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QUELQUES MOUVEMENTS RYTHMIQUES (PHASE DEVELOPPEMENTALLE)

C.N NOM SEX AGE

MARCH COMME CANARD

PHASE PAS (TEPO)

MARCH EN SAUTILLANT

PHASE PAS (TEMPO)

SAUTILLEMENT SUR UNE JAMBE
DROIT
FOIS (TEMPO)

GAUCHE
FOIS (TEMPO)

35

G Sl T N S N S

H.NO
T.TA
M. HO
S.KU
T.SH
T.18
S.KI
M. SU
Y.KI
. M.NA
. KTA
. S.8U
. K. YA
. KIS
. Y. MI
. Y.ON
J.KA
. K.SA
. N.NA
. Ta.M
. Ya.A
Y.KA
. Ma.§
. Y.SU
. M.OK
. AU
. Se.G
. K. KA
. A.YO
. M.KU
. MSu
. M.KA
L Y-FU
. S.UC
. T.SA

15:06
15:04
15:03
15:02
14:11
14:11
14:11
14:04
14:02
14:01
13:10
13:09
13:08
13:06
13:04
13:08
13:02
13:02
12:11
12:08
12:06
12:04
12:01
11:09
11:06
11:05
11:04
11:03
11:00
10:10
10:07
10:07
10:06
10:05
10:01

&

3

W A = A WA =R WA OO ON®E GO GO G W

3 (58.252)

14 ( 38.961)

13 (100.139)

8 (92.511)
20 (100.000)
30 (82.778)
7 (75.314)

(20/ 80.225)
24 (98.011)

11 ( 58.423)
4 (70.039)
22 ( 81.978)

9 (58.252)
26 ( 85.082)

9 ( 58.252)
( 6/ 55.556)
12 ( 60.998)

9 ( 84.507)

17 ( 68.966)
6 ( 55.866)

16 ( 63.380)

% 7 (76.923)

~

(109. 091)

w

( 56.338)

2

2

2

2!

3

1

4 28 (78.412)
5 35 (91.975)
3

3

2

2

3

4

- &

( 56. 426)
(97.087)

£y

2

( 64.171)

47 (101.173)

3

©
w

( 49.180)

3 10 (109.312)

w
©

(105. 263)
3 5 (65.217)

2 ( 6/119.048)

3 ( 3/ 64.171)

3 3 (63.830)
2" ( 6/ 75.567)

4 28 ( 77.586)

(127. 660)
(145. 594)

(133.891)
(123.510)

(118.251)
(132.589)
(127. 434)
(127. 660)
(143. 345)

(138.211)
(169. 811)

(123.711)

(158. 940)

(106. 195)
(165.919)

(153.191)

(178.218)
(122. 449)

(168. 539)

( 8/141.892)

105 (140.036)

©

(146. 853)

13 (144.289)

50 (160.131)

9 (137.931)

29 (163.902)

2

(133.333)

31 (153.684)

13 (154.506)

w

( 72.289)

16 (162. 455)

w

(125. 000)




QUELQUES MOUVEMENTS RYTHMIQUES (PHASE DEVELOPPEMENTALLE)

MARCH COMME CANARD

MARCH EN SAUTILLANT

SAUTILLEMENT SUR UNE JAMBE

C.N NOM SEX AGE DROIT GAUCHE
PHASE PAS (TEPO) PHASE PAS (TEMPO) FOIS (TEMPO) FOIS (TEMPO)

36. Y.SU m 10:00 5 17 ( 95.713) 4 33 (1 99.637) 36 (155. 556) 7 (134.831)

3.TMfo9m 47 13 (99.448) 2 18 (156.202) 20 (152.610)

38 D.KA m 9:10 = =

39. Y.JI m 9:08 25 ( 8/ 48.276) 1 0 0

40. HLTA m 9:08 3 2 ( 4/ 17.613) 0 0

41. T.TA m 9:06 4 6 (72.816) 2 (10/121.076) 0 0

42. K.SU m 9:06 1 1

43. Ma.Y m 9:05 4 7 (77.253) 2 ( 3/ 91.603) 1 0

4. T.EG f 8:10 3 ( 7/ 47.809) 1 0 0

45. TEG m 8:10 1 1 0 0

46. Mi.S f 8:08 4 11 ( 62.305) 2 ( 8/ 95.238) 6 (169.492) 48 (167.658)

47. Ta.l m 8:08 2 5 ( 48.880) 11 0 0

48. M.KO m 8:06 1 1 0 0

49. Ta.S m 8:06 4 10 ( 82.695) 2% ( 6/ 95.238) 2 (103.448) 0

50. S.HO f 8:06 = 5

51. K.OK f 8:04 2 ( 4/ 73.469) 1 0 0

52. NTA f 8:08 12 ( 5/ 50.209) 2 (10/108. 000) 0 0

63. Mas. m 8:02 3 6 (77.320) 2 ( 9/ 97.363) 2 (117.647) 3 (106.195)

54. KMA f 8:01 3" 10 (102.467) 2 (7/107.143) 1 0

55. Y.IB m 8:00 0 1 0 0

56. N.MI m 8:00 4 13 ( 47.809) 3 ( 2/ 44.776) 1 1

57. Y.HA m 8:00 0 0

58. M.FU m 7:08 4 13 ( 69.164) 2 (/5/123.077) 0 0

59. AIS m 7:07 5 18 ( 78.341) 3 11 (94.192) 22 (147.714) 12 (151.367)

60. RKA m 7:06 0 1 0 0

61. T.SA m 7:06 1" (1 83.21) 1 0 0

62. MHA m 7:04 1 1 0 0

63. Ky.W m 7:01 1 1 0 0

64. SMl m 7:00 1| 2 (7/129.032) 0 0

65. Ai.K f 7:00 1 1 0 0

66. Yu.l m 7:00 i 1 0 0

67. ASU m 6:11 2 ( 4/ 42.254) 2 (7/121.622) 0 0

68. W.SA m 6:11 0 1 0 0

69. ETO f 6:08 = =

70. HKA m 6:07 3" 4 (107.143) U= 0 0




TEMPOS DE SAUTILLEMENT SUR DEUX JAMBES

PREFERE  TROP RAPID  TROP LENT SYNCHRONISATION 42 TEMPS

C.N NOM LA PLUS ® ® J=us -0

PHASE FOIS A-B |FOIS(TEPO) FOIS(TEMPO) FOIS(TEMPO) | FOIS(TENPO) FOIS(TENPO) | FOIS (TENPO)
LHN | EL o1 1( 96.000) 0(192.857) |
2 T.TA | D i 32i31.387|32(108.209) | 13(130.152) | 15( 98.765) | 23(118.285) |
3 MHO | D | 45] 6238 |19(133.858) | 24(136.957) | 17130.719) | 45(130.299) |
G I 0(196.721) 1073.913) |
5 T.SH | B i 40} 8774|39(135.892) | 33(144.636) | 29(137.566) | 40(137.615) | 9(121.212)
6. TIs| ai o i : :
75K | © i 35i-5.835 [33(110.667) | 23(112.888) | 28(120.502) | 35(119.307) | 25(107.063)
8 WSU | B i 34:69.279|30(102.733) | 22(153.846) | 23( 84.567) [ 34(108.011) | 30( 93.802)
9 YKI | C i 48} 5753|26(112.469) | 23(114.395) | 13(108.642) | 48(126.493) | 31(113.783)
10, MNA | D | 12}31.283 | 12(126.612) | 9(120.172) { 17( 88.889) | 11(111.759) |
1KTA | E i 12§25.380 | 12(103.846) { 12124.281) | 1(98.901) | 0(105.395) |
P S 20(172.662) | : i 3(166. 763)
13. K.YA | © | 3426956 |34(166.259) | 33(158.147) | 28(139.303) | 25(176.471)
14 KIS | B | 47037.980 | 31(115.305) | 47(147.513) | 29(100.533) | 35(115.281) | 15(113.636)
Boywm | - =i i ;
16. Y.ON | C | 24116707 | 24(115.284) | 11(131.148) | 24(114.441) | 23(122.264) | 12(112.150)
17. 0K | E | 8i 8(147. 368) i | 70149.539)
18 KA | ¢ i 30is1172|220124.183) | 30.(175.355) | 24(134.756) | 30135.517) | 3(101.266)
19NN | G 0
20. TaM | C | 40 41.302|32(119.166) | 34(160.468) | 33(129.450) | 40(123.077) | 20(121.596)
21 Yah | B | 44160.995 | 44(140.011) | 44(170.656) | 31(100.661) | 37(124.567) | 33(110.727)
22 LVEKA SRSk St 6(186.770) ! j i 8(168.000)
23 Ma.S | D i 16119.478|16(149.201) | 8(158.474) | 15(138.996) | 7(136.830) 9(149. 853)
24 Y.5U | D | 201 3.104[20(128.711) | 16(121.916) | 8(118.812) | 10(123.167)
2. WOK | D | 27§37.706 | 27(142.082) | 23(169.241) | 16(109.097) | 23(131.535) 12(110.183)
6. AN | F i 0} 0(151.899) ;
27 Se.G | C i 45121.419|45(157.303) | 13(149.533) | 20(128.114) | 19(126.067)
28 KK | D | 15§-0.190 | 8(155.396) | 0(150.943) | 12(151.133) | 15(130. 564)
20 AYO | D | 31}-7.983|31(185.280) | 11(175.824) | 10(183.807) | 27(158.416) |
30 MKV | - - ; t :
3. MSU | F i1 ; : : 1(145.786)
%2 WKA | D | 14i-0.471 | 100127.660 | 6(129.964) | 5(130.435) | 140127.400) | 0(132. 353)
33V e i H i
34, S.UC | B | 31101.264|26(119.772) | 31(211.037) | 15(125.545) | 28(130.393) | 20(124.163)
B/ISA|[ 61 0 : : :
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TEMPOS DE SAUTILLEMENT SUR DEUX JAMBES

PREFERE  TROP RAPID  TROP LENT SYNCHRONISATION 42 TEMPS

C.N NOW LA PLUS J=us  J=10

PHASE FOIS A-B | FOIS(TENPO) FOIS(TENPO) FOIS(TENPO) | FOIS(TENPO) FOIS (TEPO) | FOIS (TENPO)
3. V.50 | © i 4:100.90 | 44159, 688) | 6(104. 386) | 31 (154. 696)
37 TMI | D i 32028.772|18( 98.956) 1(126.074) | 25(109.025) | 320
% DKA | - i - :
39 vl | Fio1i-3889| 50153359 | 7(142.292) 2(150. 470)
4. HTA | F i 1i 00123.711) | : 1(148.148)
4. T | E 3 9(168. 153) | 13(174.000)
2Kk | 6 o
435 Ma R YRR [T 1(91.603) | 0( 85.106)
4. TEG| 6! 0! I :
460 TOEGE| L E iR 3(172.662) | 73171, 021) |
46 Wis | | 26063093 |260145.113) | 6(125.959) | 24(130.265) |
47. Ta.l | E | 10(67.605| 5(106.195) 0( 99. 448) : 9(135. 484)
48 MK | F i oo} 0(123.839) ;
49. TS | D | 38i27.893 | 38(134.505) | 2(127.308) | 36(119.940) | 16( 96.343)
5. S.HO | - i - { :
5. KOK | @& ! 0f :
52 NTA | E i 4! 4(129.032) | ; 2( 96.386)
53 Mas. | E | 6! 5(157.895) | 6(108. 108) | 4(114.833)
54 KMA | E | 16} 16(193.966) | !
55 Y08 | 6 of i i
56 NMI | ¢ | 4417470 [23(165.746) | 21(171.946) | 44(154.476) | 28(155.575) | 35(162.388)
5. YHA | 6§ 0 ! |
58 W.FU | D i 43130.766|43(171.176) | 9(179.439) | 24(148.673) | 22(136.536) | 39(164. 384)
59 AIS | D ! 26} 8.518|19(139.738) | 19(148.256) | 23(146.640) | 26(148.026)
60. R.KA B0
61 T.SA | E i 27} 7.062|26(142.736) i 14(141.176) | 23(134.114) | 23(136. 467) 27(138.010)
62. MHA | 6 0 ;
6. KW | 60 :
64. S M | E i 8 8(122. 449)
65. AiLK | 61 0
6. Yul | Fi 0 0(159. 346) 0(154. 639)
6. ASU | F i 2 2(160. 000) 1(146.341)
68. WSA | 6 0
69. ETO | - - !
70, HKA | D | 37(171.089) 34(180.961) | 32.(216. 606) | 41(171.429)

1 12(176. 183)
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TEMPOS DE LA MARCHE

C.N NOM PREFERE TROP RAPID TROP LENT SYNCHRONISATION TEHPS D' APPUI
Saut. sur 2 (o) ® =14 GAUCHE DROIT
Janb. PHASE | A-B TEWPO  TEWPO  TEWPO TENPO %/ CYCLE(SD) %/ CYCLE(SD)
1HNO | E | 2.450| 98.596 129.375] 101.925 | 119.950(-28.050) | 57. 148( 3.044) | 60.905( 9.631)
2 TTA | D | 24.831| 108456 123.584 | 98.753 | 124.256(-23.744) | 57.431( 2.304) | 53.262(12.502)
3. MHO | D | 34.051| 125.589 | 148.501 114.540 | 129.915(-18.085) | 55.718( 5.314) i 60.137( 6.362)
4 sk | E 120. 406 114.477(-33.529) | 56.993( 8.980) : 68.400(22. 300)
5. T.SH | B | 13.487| 83.583} 96.386 82.899 | 101.644(-46.336) | 61.406( 4.719) | 61.301( 8.003)
6. TIS | 6 116.908 :
78K | ¢ | 46.275| 100706} 123,460} 77.094 ] 132.426(-15.574) | 50.326( 3.402) | 56.605( 1.882)
8 MSU | B | 35152| 1201517 137.314} 102.162 } 140.185(- 7.815) | 54.417( 0.895) | 59.132( 1.189)
9. Y.KI | ¢ | 21.834| 112.061} 131.738 100.904 | 120.978(-27.022) | 50.829( 3.018) | 51.444( 2.322)
10, WNA | D | 30.342| 108742} 151.989 | 112.647 | 128.004(-19.996) | 53.646(14.371)
1oKTA | E | 2457 111.400] 1220100 98343 125 624(-22.376) 50.485( 8. 834)
12850 | F | 12.357| 79.356 100605 88.248 ; 108.554(-39. 446) | 59.454( 0.743)
13 KYA | C | 53160| 105.361} 132150 78.999 : 117.140(-30.860) | 55.754( 1.843) | 58.811( 2.521)
14 KIS | B | 67.000| 111724} 166.451 | 99.361 138047~ 9.953) | 56.022( 2.446) | 56.130( 2.278)
LR AT - ] i
16. Y.ON | C | 35.007| 126.354; 134781} 98.876: 119.581(-28.419) | 57.822( 2.515) | 63.350( 2.373)
17 JKA | E | 21586 | 112181} 125.360 | 103774 121.167(-28.833)
18 KSA | ¢ | 79240 106.485] 173442 94.202123.389(-24.611) | 55.693( 2.433) | 55.454( 3.870)
19NV | G run ] i 48.029(10.867) | 47.325(14.306)
20 TaM | C | 43.232| 103.838 | 128.315| 85.083 | 130.733(-17.267) | 59.064( 3.567) | 59.268( 2.503)
20 YaA | B | 83.020| 121.231] 188.211 105.191 | 145.157(- 2.843) | 58.960( 1.695) | 55.626( 4. 105)
22. Y.KA | F | 23.079| 123.651 141.844 118.765 | 133.014(-14.986)
23 MaS | D | 4154| 125602} 1311677 127.013: 134.228(-13.772) | 59.996( 5.119) | 57.902( 2.815)
2 Ysu | D 107.065 | i $134.174(-13.826) | 56.862( 7.067) | 56.616( 4.955)
25 MOK | D | 66.062| 96.744] 140.302} 74.240 | 116.515(-31.485) | 57.042( 2.764) | 58.425( 2.834)
%6 AWMU | F | 24632| 125.050 98.509 100418} 110.396(-37. 604) | 56.657(22.905) | 56.641(23.744)
27.8e.6 | C | 49.695| 103.473} 137.3787 87.683: 136.641(-11.350) | 55.029( 5.385) | 51.337( 9.050)
28 KKA | D | 4.302| 121,827} 117.266 | 117525 121.858(-26.142) | 55.720( 3.243) | 54.947( 3.262)
2. AYO | D | 53.686| 104.306: 150.188 | 96.502; 128.180(-19.820) | 56.091( 5.404) | 49.820(12. 362)
30. MKU | - = i i
31 MSU | F | 27.508| 118110} 142.495 114.987: 164.992(+14.992) | 49.796(12. 245) | 48.861( 8.776)
32 MKA | D 113.208 | : :
33 YR [ = = i
34.SUC | B | 75.776| 129.383 | 179.748 | 103.972 | 147.783(- 0.217) | 57.463( 3.715) | 58.099( 3.204)
% T.SA | 6 | 16.991 115397} 130502} 113.511 | 138.468(- 9.532) | 60.247( 5.242) | 58.484( 4.33D)
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TEMPOS DE LA MARCHE

C.N NOM PREFERE TROP RAPID TROP LENT SYNCHRONISATION TENPS D' APPUI

Saut. sur 2 ® ® J=1a GAUGHE DROIT

Janb, PHASE | A-B TENPO  TEWPO  TEWPO TEWPO %/ GYCLE(SD) %/ CYCLE(SD)
6. V.50 | o | 36.171| 13007 | 156.473 ] 118.302 158.772(+10.772) | 50.325( 2.120) | 51.948( 1.779)
37 TMI | D | 52.215| 112.828 | 146.092 93.877 | 124.883(-23.117) | 46.674(13.232) | 51.707( 6.212)
38 DKA | - S
39 Y01 | F | 70.671| 127158 | 170.774 | 100.103 | 154136+ 6.136) | 55.446( 5.240) | 59.005( 6.249)
40 HTA | F | 48.963| 113.197 | 149.813 100.850 | 128.480(-19.520) | 59.716( 6.612) | 53.486( 6.779)
41 TTA | E | 67.302| 120.174 | 158.019F 90.717 | 144.986(- 3.011) | 59.080( 7.374) | 59.492( 7.480)
2.k | 6 141,251 | : 33.767(-14.283) | 55.202( 9.360) | 54.341(11.642)
43 MeY | F | 18.449 | 100.681 | 121.646 103.197 | 112.392(-35.608)
4. TEG | 6 | 34.182| 110.396 | 137.558 103.376 | 129.781(-18.219) | 57.446( 7.287) | 56.768( 4.889)
5 TES | F 107.710 | 135173} 07. 467(-40.533) | 52.509( 6.862) | 65.623( 4. 240)
46 MiS | ¢ | 48.084| 128.978 | 160.302 ] 112218 152.321(+ 4.321) | 54.376( 4.208) | 56.166( 2.821)
47 Tal | E | 15.914| 110.911 | 120.901 104987 | 144.031(- 3.969) | 60.878( 2.974) | 57.032( 3. 630)
48 MKO | F | 25.615| 140.322 | 172.840 147.225214.310C  run) | 51.046( 6.060) | 50.220( 6.931)
49. Ta.S | D | 23.621| 130,998 | 144.928 | 121.307 | 147.560(- 0.440) | 56.021( 8.175) | 57.492( 3.904)
50. S.HO | - g 60.060(32.307) | 67.597(29.997)
51 K.OK | G | 59.785| 117.851 | 177115} 117.330 | 148,432+ 0.432) | 56.133( 6.255) | 56.395( 5.682)
52 NTA | E | 54.625| 130.611 | 154.088 | 99.463 | 135.933(-12.067) | 57.600( 4.771) | 55.367( 5.591)
53 Mas. | E | 42.527| 119.660 | 134.178 | 91.651: 131.465(-16.535) | 54.889( 4.696) | 52.895( 5.530)
54 KMWA | E | 8,69 | 125506 | 144.364 | 135670} 138.173(- 9.027) | 63.678(13.111) | 64.825( 8.587)
5. V.18 | @ 119.852 | runi 118.876 148.084(+ 0.084) | 55.736(12.687) | 57.400(14.896)
56. NNl | C | 73.302| 119.297 | 164.170 ] 90.868 } 163.726(+15.726) | 52.077( 1.797) | 54.209( 1.899)
5. Y.HA | 6 126.180 | : 23.169(-24.831) | 56.937( 8.722) | 55.313(10. 660)
56 MFU | D | 76.538| 118.117 | 174.600 i 98.071|149.347(+ 1.347) | 54.804( 1.763) | 54.213( 1.284)
59 AIS | D | 24.328| 129.826 | 145.833 121.505 | 147.671(- 0.320) | 55.082( 4.201) | 52.580( 7.291)
60. RKA | 6 | 26.054| 125.622 | 137.804 | 111.840 | 148.306(+ 0.306) | 59.403(13.721) | 56.196(12. 358)
6. TSA | E 209. Trun £166.192(  run) | 33.467( 3.928) | 36.550( 2.478)
62. MHA | G | 26.831| 123.834 | 165.700 | 138.869 | 177.795(+29.795) | 53.335( 7.509) | 55.291( 9.474)
6. kyW | 6 140.900 117.885(-30. 115) | 56.039( 8.927) | 54.200( 8. 065)
64. SM | E | 36.825| 122.398 | 155.383 | 118558 120.751(-27. 249) | 59.280( 2.668) | 60.198( 2 816)
6. ALK | G 131.100 : 155400 (+ 7. 409) | 60.634( 8.296) | 52.372(13.091)
66. Yul | F | 50.731| 137.031 i 173.894 | 123.163 | 102.542(-45.458) | 52.490( 9.662) | 55.963( 7.045)
67. ASU | F | 42.700| 143.288 | 155.024 | 112.324  138.134(- 9.866) | 60.205( 5.400) | 52.328( 5.538)
68 WSA | G 136.943 £136.980(-11.020] | 62.172( 9.050) | 64.760(11.937)
69. ETO | - L ; |
70 WKA | D | 44.977| 138.324 | 176.276 131299 { 156.201(+10.201) | 52.536( 4.684) | 50.936( 8.933)
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TEMPS DU CYCLE DE MARCHE

(% / CYCLE (SD))

MANQUE GAUCHE DROIT

C.N NOM mmsec DE TOUCHE APPUI OSCILLATIONT APPUI D' ORTIL APPUI D' ENFER

(SD%/cycle)  (G:B-T,D:H-T) —SCIL. DE BALLE —APPUI DE BALLE
1. H.No | 1217.090( 9.044) §1| 000 o 18.054( 3.016) 81.947( 7.378) | 5.661( -4.196 +2.663) -0.269 8.142( -2.845 +9.877)
2. T.TA|1106.440( 3.283) 16 0 0 0 0 14.444( 3.766) 81.805( 7.850) | 3.072( -3.662 +2.374) +0.248 4.898( -1.976 +3.663)
3. MHO| 955.500(8.303) {1810 4 00! 15.856( 3.758) 84.144( 6.700) | -3.450( -6.625 +11.262) ~4.647 11.379( ~4.880 +9.522)
4 S.KU| 996.625(13.350) |16 0 10 027, 436(18.210) 72.520(18.213) | 5.223(-9.365 48.645) +2.545 11.006( -8.503 +11.834)
5. T.SH | 1435.700(19.918) {10 0 2 0 0| 23,926(18.945) 74.856(37.342) | -2.924( -3.731 +4.016) -8.078 5.314( -3. 443 +12.869)
6 T.18
7. S.KI | 1191580 3.595) | 12101000 | 15.931( 1.139) 84,069 3.092) | -2.196( -3.906 +2.973) -5.266 9.441( -3.010 +3.208)
§ M.SU| 990,500 1.581) {10000 0 0 13.549( 0.624) 86.451( 1.921) | 13.468( ~1.381 +3.407) +15.275 14.679( -0.839 +4.833)
9. Y.KI | 910.900( 3.702) {10 050 0 3.491( 2.738) 95.290( 4.494) | 0.901( -4.028 +2.934) +3.074 6.071( -2.347 +3.942)
10. M.NA | 1103.530(12.907) {19 000 3| 11.919( 4 628) 85.005(15.257) | -0.763( -3.783 +3.457) -6.682 11.477( -3. 454 +10.633)
11 K.TA| 1076.330(24. 449) | 18 015 0 o 10.127(16.001) 88.418(20.839) | -23.258(-29, 142 +15.787) -26.654 3.303(-12.028 +11.629)
12.S.5U | 1512 170(13.724) | 24 023 0 0 { 16.095( 5.056) 83.021(12.974) | ~12.322( -0.000 +10.248) ~20.586 5.461( -9.737 +13.729)
13 K.YA| 1138.940( 2.579) {170 0 0 0} 14,565( 1.733) 85.435( 2.836) | 3.450( -2.095 +6.608) +1.348 5.204( ~1.488 +2.503)
14. K.1S|1074.070( 3.618) | 14 0.0 0 0} 14,152 1.191) 85.848( 3.091) | 2.042( -3.322 +0.792) +1.769 9.184( -2.120 +3.193)
15, Y.MI | 1201.570( 6.899) | 35 034 0 0 | 22.028( 4.469) 77.972( 7.226) | 2.421( 0000 +6.471) -8.467 4.247( 4,487 +4.540)
16. Y.ON | 949.714( 3.659) 14 0.0 0 0§ 21,172 2.431) 78.828( 4.755) | 1.843( -3.345 +3.012) -5.904 1.610( ~2.010 +2. 141)
17, J.KA
18. K.SA| 1126.920( 4.146) {130 0.0 0 | 11,208( 2.366) 88.730( 4.195) | 15.207(-10.842 +7.329) +20.096 11.392( ~1.836 +11.295)
19. N.NA| 639.200(13.857) | 100 0 2 0 | 10,482(20.582) 89.064(13.864) | 10.247(-11.891 +7.598) +25. 614 -0, 145( ~8.869 +7.036)
20. Ta.M | 1155.640( 3.036) | 1402 0 0| 18.332( 3.471) 81.668( 3.125) | -3.797( 2.082 +4.353) ~7.271 10.044( -1.371 +1.887)
21, Ya.A| 989.845(2.409) 13 0000 14.719( 4.051) 85.149( 4.699) | -0.832( -2.240 +5.135) -4 818 28.388( ~1.568 +5.791)
2. Y.KA
23. Ma.S | 955.400( 6.287) 110 00 0 0} 17.898( 3.363) 82.102( 6.758) | 6.876( -8.878 +6.409) +5.547 0.387( -4.463 +4,381)
24 Y.SU [ 1120.810( 9.071) {16 0 0 0 0§ 13, 478( 3.285) 86.522( 7.986) | 22.472(~13. 486 +10.123) +21.000 22. 601 ( -6. 334 +12.799)
25. W.OK | 1240.380( 3.754) {13 0 2 0 0} 15.498( 2.804) 84.471( 5.503) | -2.164( -2.015 42.421) -4.589 6.797( -1.203 +3.360)
26. A.MU| 959.615(24.003) {13 0 2 0 0 27.743(22.034) 74.886(20.461) | 8.232(-22.178 +21.340) +9.483 5.195(-13. 473 +18. 660)
27. Se.G [ 1159.730( 8.366) { 11 00 0 3| 8 121( 2.889) 90.123( 6.897) | -0.964( -4.535 +11.381) +8. 145 32,521 ( -4.466 +7.503)
28. K.KA| 985.000( 4.838) { 1310 00 0 10.668( 1.498) 89.332( 4.576) | -0.898( -3.797 +11.028) +2.491 0.164( -2.898 +2.829)
29 A.YO [ 1150.460(11.034) § 13 00 0 2} 10.538( 3.263) 84.836(12.562) | 2.487( -6.264 +10.637) +7.596 11.121( -5.934 +13.969)
30 MKU g
31. N.SU| 1016.000(25.790) {14 4 10 5 9.911( 5.042) 80.252(11.548) | 9.476(-14.178 +7.934) +26.245 -0.538( -3.938 +8.818)
32, M KA
3% YR
34. S.UC| 927.476( 5.537) {21 0.0 0 0 15.562( 2.006) 84.438( 5.655) | 8.610( -4.584 +4.002) +6.043 1.407( -3.433 +3.970)
35 T.5A | 1039.890( 7.568) 18.731( 3.602) 81.269( 8.925) | 5.351( -6.623 +4.793) +7.196 2.121( -5.646 +5.421)

180000
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TEMPS DU CYCLE DE MARCHE

(% / CYCLE (SD))

MANQUE GAUCHE DROIT
C.N NOW mmsec DE TOUCHE APPUI OSCILLATIONT APPUI D" ORTIL APPUI D' ENFER
(SD%/cycle)  (G:B-T,D:H-T) —SCIL. DE BALLE —APPUI DE BALLE
36 Y.SU| 902.143( 3.087) 14 0 0 0 oé 2.399( 1.197) 97.474( 3.223) | 0.555( -5.630 +14.268) +16.271 5.970( -2.034 +5.718)
37. T.MI [ 1054.220( 6.925) } 93301} 4.269( 3.659) 87.690(10.454) | 0.424( -5.031 +9.432) +5.107 21.327( -2.857 +9.612)
38 D.KA

39. Y.JI | 943.708( 8.411) 12400 0 0 14.451( 3.534) 85.549( 6.773) | 4.565( -6.852 +8.415) +12.499 2.831( -4.138 +6.701)
40. H.TA [ 1060.100( 8.620) {20 0 0 0 4 13.617( 5.343) 85.968(10.097) | -0.217( ~8.313 +10.771) +4.282 5.491( -7.447 +7.755)
41. T.TA| 998.556(10.613) : 18 0 0 0 0: 18.571( 3.494) 81.429( 8.555) | 2.715( -9.183 +8.558) -0.328 13.531( -6.072 +11.453)
42 KU | 849.552(9.005) {29 0100 12.393( 7.200) 85.611(12.490) | 2.245(-14.518 +12.040) +8.082 1.128( -5.058 +5.029)
43 Ma.Y :

4. T.EG [ 1087.000(10.615) {16 0 3 1 0 14.213( 7.948) 85.787(15.565) | 2.406(-12.794 +13.826) +10.062 ~1.125( -7.166 +7.570)
45 TEG[1114.10020.282) (107700 -1.107( -5.702 +1.380) -6.759 41.603( -5.933 +14.751)
46 Mi.S| 930.391( 4.854) 523 140 o 11.033( 2.683) 88.476( 5.209) | 0.470( -3.622 +11.473) ~1.738 19.651( -2.911 +11.042)
47. Ta.| [ 1081.940( 4.197) {18 0.0 0 0} 17.910( 2.732) 82.090( 4.487) | 1.145( -4.507 +0.520) +1.001 26.141( -2. 698 +12.589)
48 W.KO| 855.176(21.366) 117 03 00} 8.474( 5.571) 86.312( 7.715) | -3.513( -7.059 +7.243) +1.935 0.303( -4.347 +4.366)
49 TaS| 916.043( 7.525) (23020 o 15.786( 6.160) 81.940( 8.977) | -5.056( -6.717 +9.856) +12.136 0.190( -4.459 +4.404)
50. .0 | 1059.850(31. 060 § 26 111 10 | 22,086 (14, 168) 83,485 (27, 680) | ~14.233(~40. 114 +23.991) ~14.758 1.754(-23.582 +30. 457)
51. K.OK|1018.240(11.186) 21 0 0 0 0: 12.529( 2.325) 87.471(11.533) | 5.734( -7.296 +5.874) +7.057 2.081( -6.124 +6.835)
52 N.TA| 918.759( 6.459) 29 0 3 0 0| 13.264( 3.919) 86.440( 6.365) | 7.229( ~1.734 45.279) +8.485 1.242( -4.663 +5.002)
53. Mas. | 1002.760( 8.441) : 170 0 0 o 7.784( 3.334) 92.216( 8.880) | 1.836( -0.038 +8.162) +10.541 1.490( -4.150 +3.982)
54. K.MA| 955.444(10.501) {27 02 0 0 28.503( 9.072) 71.497(10.195) | 4.043( -7.514 +6.735) -3.032 -0.961( -6.811 +6.514)
55. Y. 1B 1001.240(12.085) 21 0 1 6 2:17.245( 8.153) 78.646(11.739) | 7.379(~13.531 +14.303) +25.017 ~1.707( -9.857 +9.806)
56 N.MI | 1005.890( 2.844) {18100 0 1} 6.285( 1.463) 93.715( 3.182) | 1.402( -2.557 +5.899) +5.633 24.515( ~1.666 +4.283)
ST Y.HA| 958.619(9.742) 21 1700 14,250 7.256) 85.108(11.126) | 8.170(-11.052 +10.104) +3.037 5.866( 7.526 +0.775)
58. M.FU | 1015.940( 3.154) {1810 0 0 0} 9.017( 1.690) 90.983( 4.489) | 15.782( -6.683 +4.065) +19.101 2.980( ~1.797 +3.009)
59 A.1S| 924.312(5.428) {16 0 0 1 1} 8.757( 3.009) 90.148( 6.799) | 3.590(-11.502 +9.980) +18.663 3.967( -3.340 +2.865)
60. R.KA| 953.727(20.248) 22 0 1 0 0:15.761( 6.752) 84.077(17.140) | 5.932(-12.962 +15.549) +5.612 6.663(~12.264 +14.318)
61. T.SA|1039.890( 7.567) { 1810 0 0 0! 18.731( 3.602) 81.269( 8.925) | 7.351( -6.623 +4.793) +7.196 2.121( -5.646 +5.421)
62 M.HA| 969.042(14.291) 124 0 2 0 0} 10.835( 5.565) 87.857(16.224) | - 3.383( -9.420 +8.153) +5.608 ~1.454( ~7.169 +9.487)
63. Ky.W| 851.667(11.761) 1150 0 0 0 11.566( 4.372) 88.650(10.307) | 3.679( -9.373 +11.370) +12.610 2.889( 6. 476 +10.663)
64. S.MI | 980.409( 3.541) 122 0 0 0 0:19.477( 1.879) 80.523( 2.868) | 2.059( -3.136 +14.064) -0.955 0.435( -2.021 +1.773)
65. Ai.K| 915.333(14.271) {21 02 1 0 16.107( 5.407) 80.793(13.033) | 1.126( -8.438 +12.086) +4.707 5.976( -7.314 +10.481)
66. Yu.|| 944.650(18.182) 20 12 0 0} 11.655( 3.323) 85.143(11.041) | 6.508(-12.583 +11.165) +7.861 0.307( -8.869 +8.589)
67. A.SU| 837.476( 6.503) i21 02 0.0 14.150( 6.612) 85.671( 9.220) | -0.390( -8.271 +5.863) +5.779 1.047( -5.030 +5.248)
68. W.SA| 876.280(10.851) {250 0 3 0 | 26.932( 9.648) 73.068( 7.010) | 11.672(-14.463 +11.078) +9.377 -4.169( -6.682 +6.053)
69. E.TO ;

70. H.KA| 867.529(7.123) 117000 3} 5.919( 2.763) 91.633(10.815) | -0.393(-11.342 +4.583) +10.462 18.332( -4.646 +19.224)
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TEMPOS DE SAISIR ALTERNATIVEMENT LES BALLES

SAISISSANT ALTERNATIVEMENT PINGANT TAPANT
C.N NOM DURE  SIMULTA. ALTERNA. | DROIT  GAUCHE DROIT  GAUCHE SYMPTONE
PHASE  SEC TENPO(F.) TENPO(F.) | TEWPO(F.) TEWPO(F.) | TEMPO(F.) TEWPO(F.)
LHN | ¢ 395 102! 68 {19004 | 143010) | 238015) | AUTISHE
2. TTA | D | 063 | 185011 209(3) | 238(17) | 231(17) | AUTISHE
3 MH | D {395 176016 456( 1) INFIRMITE MOTRICE C.P.
aosku | e faseimcs 207( 3) AUTISHE
5.TSH | A i 7360 122(D 17206 209(11) | 263(19) | 223(16) | AUTISHE
Gl oo e AUTISHE
78K | ¢ §s14 i ssani (2 220( 3) | 278(21) | 251(18) | DEBILE MENTAUX
8 MSU | B (1212 i 240(22) | 133(5) 237(3) | 278(64) | 282(77) | AUTISHE
9. YKl | A {690 i 21848} 149(13) 237(3) 263(36) | DEBILE MENTAUX
10. MNA | B fasan | 1209 113(13) | 219(12) | 195(12) | AUTISHE
1KTA | D | 085 i 1788 | 162 1) AUTISHE
122880 | F | 237 | 150(4) 314(11) INFIRMITE MOTRIGE G. P.
13.KYA | € {42 | 11702} 68(2 275(10) | 231(9) | AUTISHE
14 KIS | A 1403 | 10669 | 254(10) 319(8) | 286(49) | 277(59) | DEBILE MENTAUX
15, VoMl | Ba i ; INFIRMITE MOTRICE CEREB.
16. .00 | B | 7.36 | 258(13) | 102(7) 182( 4) | 233(30) i 226(29) | AUTISME
17 0KA | D {118 204016} 178( 6) 246( 4) DEBILE MENTAUX
18.KSA | B | {15607 | 1750 3) 174(3) | 201(15) ; 154(23) | PARESIE
19 NNA | G § 358 ! : c PARESIE
20, TaM | C | 632 183014} 64(1 306(25) | 263(21) | DEBILE MENTAUK
20 Yah | A (1340 | 2602 | 11301) 1880 8) | 332(49) | 322(99) | MONGOLISHE
P2 SIYAKAT PR i 103(6) § 50(8) | 95(4) | MONGOLISME
23 Ma.S | B | 897 | 187(9) | 170(7) 235( 4) | 242(36) | 250(22) | AUTISHE
. Y80 | F i 1761 672 161(6) | 61(3) | AUTISME
25 WOK | ¢ | 7.05 18208} 57(2 159( 8) | 173( 7) | DEBILE MENTAUX
2. AN | E ! P IQR 326(3) | 261(4) | AUTISHE
27826 | D i 140 | 20417 200(5) | 288(13) | DEBILE MENTAUX
8 KKa | B i 118! 2180601 98(10) 187(22) | 196(25) | AUTISME
2.AY | D 385 i 13san 144( 5) | 194(25) | 191(23) | DEBILE MENTAUX
30. WKU | B i11.58 | 266(28) i 154(9) 299(44) | 329(44) | MONGOLISME
M suA| e : DEBILE MENTAUX
32 MKA | G - DEBILE MENTAUX
33. Y.FU Ty St INFIRMITE MOTRICE CEREB
3. S.UC | A 1253 i 167(38) | 233(6) 178(11) | 218(30) i 228(24) | MONGOLISME
% TSA| F o e INFIRMITE MOTRICE CERES.




TEMPOS DE SAISIR ALTERNATIVEMENT LES BALLES

SAISISSANT ALTERNATIVEMENT PINCANT TAPANT
C.N NOM DURE  SIMULTA. ALTERNA. | DROIT GAUCHE | DROIT  GAUCHE SYMPTOME
PHASE  SEC TEWPO(.) TENPO(F.) | TEWPO(F.) TEWPO(F.) | TEMPOGF.) TEWPO(F.)
% Y.S0 | B | 671 | 196(0) | 126( 1D i 227(20) | 201(20) | WONGOLISHE
3. TH | D i 461 i 182014) ! 160(11) | 152( 2) | 213(10) i 202( 7) | PARESIE
38 DKA | G - WICROCEPHALE
30. Y.l | F- i 0.66 | 54(2) 93(2) ! DEBILE MENTAUX
4. HTA | E i 0097 i 185(3) ! : 139(5) | 195( 7) | DEBILE MENTAUX
4. TTA | D i o132 i owean ; 218(5) | 274( 6) | DEBILE MENTAUX
42. K.SU G i ' PARESIE, INFIR. MOTRICE
oMy | E P4 829 17708 | 1820 2) | AUTISHE
4oTEe | ¢ 1321 i 140D} 92(2 65( 5) | WONGOLISHE
45. T.EG F 1.61 41(4) 62(2) 95( 1) | DISFONCTION CEREBLALE M.
46 WS | C G411 18428) 1 50(2) | 238(8) 311(30) | 257(29) | HYDROGEPHALE
4 Tal | CoGaTI 15104 44(2) | 173( ) 249( 6) | 281( 8) | INFIRMITE MOTRICE CEREB.
8 WK | - - MONGOL I SHE
49 Tas | - - : HYDROGEPHALE
50. S.HO | F S 107¢7) | 159( 6) | MONGOLISME
5. KOK | F - 57( 2) : INFIRMITE WOTRICE CEREB.
52 NTA | - = 268(4) | 285( 5) | AUTISME. PARESIE
53. Mas. | - = : DEBILE MENTAUX
54 KMA | D § 1.05{ 152(1 i 57(1) | 186(3) 214(6) | 116( 5) | MONGOLISHE, INFIR. NOTR.
5. Y.0B | F ~5 ey i HYDROCEPHALE, PARESIE
56 NMI | B 13,97 | 130(6) i 112(8) | 145(9) ! 150(9) | 170(9) | DEBILE MENTAUX
57. Y.HA | - - INFIR. MOTR. GERE. , PARESIE
58 MFU | D i 171 i 145011 17103 | 162 6) | 267(17) | 266(19) | DEBILE MENTAUX
5. AIS | © - 18 87(3) | 167(6) ! 197(10) | 150(13) | DEBILE MENTAUX
60. RKA | - : : 3 : WICROCEPHALE
61 TSA | - - PARESIE
62. WHA | - - DEBILE MENTAUX
6. Ky.W | - = i : HYDROCEPHALE
64. SM | D | 053} 215(8) 178(11) | 175(5) | 187(6) | 311(3) | AUTISHE
6. AiK | - - - : RUBEOLE CONGENITALE
6. Yul | - - i i AUTISHE
6. ASU | E i11s i 12408 ! 145( 4) | 148(5) | CRETINISME
68 WSA | F 103} TI(D} i INFIRMITE MOTRICE CEREB.
69. ET0 | - - : : 110( 4) INFIRMITE MOTRICE CEREB.
0. HKA | E 237§ 107(D ] : 207( 4) | AUTISHE
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RYTHMES EN ARTICULANT ET EN MACHANT

“PaPa- - -" “TaTa” | “KanKan” MACHANT

C.NNOM [PHASE 3-3:7 70 30 CONTINU SENBEI  AUTRES

TEWPO(F.) TEWPO(F.) TEWPO(F.) TEMPO(F.) | TEMPO(F.) | TEWPO(F.) | TEMPO(F.) TENPO(F.)
1LHN | - 55.32(23) | 64.56(35)
2 TTA| D ; i 128.40( ) | 116.58( 9) | 67.20( 7) | 25.80( 9) | 25.80( 9)
3 MK | C {119.40( 4) | 56.46( 3) 130,140 5) [ 132.54( 4) | 54.72(28) |
48K | - 57.54(32) |
5 T.SH | B 131.88(13) | 60.00( 8) | 69.78(9) | 100.62(13) | 66.36(33)
GRTAISH L= i 41.0422) | 67.8022)
78K | B §120.4209) | 208.56(6) | 70.72(10) | 81.42(4) | 82.20(3) | 92.70( 4 | 77.9432)
8 MSU | A 1127.26(14) ! i 92.94(9) [104.28( 6) | 82.62(11) | 68.10(25) | 52.86(20)
9. Y.KI | ¢ i 27.96(4 | 34.20( 5) 88.68(42) | 59.46( 8)
10 MNA | ¢ | 96.60(10) i 80.28(2 | 5.00(5) | 63.12(3) | 63.06029) | 67.56(9)
KT | F o : #4.5200) | 42.712(9
12. 8,50 | E 40.32(20)
13 KA | D ! : 76.32( 3) 37.56(22) | 18.06( 6)
1 KIS | A 1122609 | 178.5627) | 174.90(27) | 150.0021) | 66.48(24) |
15 Y.ML | - ; ] :
16. Y.ON | B | 45.84(6) 72.30(25) | 78.42(12)
17 0KA | E : 48.06(3) 68.1030) | 51.12( 9)
18 KSA | A | on.aam 176.0424) | 120.54(13) | 127.62( 9) | 50.64(33) | 43.14( &)
19 NNA | E i } i
20 TaM [ A | 997203 ! 157.68(21) | 134.28(18) | 151.32(15) | 110.34(42)
20 Yah | A [146.16018) | 95.22(14) | 101.16( 9) [ 136.74013) | 67.74(42) |
2 KA : 48.71222) |
23 WS | - 23.46(18)
% Y80 | F 99.54(35) | 109.38(22)
% MOK | -
2% AN | F ] : 39.84(40) | 131.04(29)
27,3 e!65 . CEL i $213.06( 5) | 213.06( 4) 161.70( 4) | 69.00(32) | 75.72(12)
2. KKA | B | 98.6415) | : : 88.74(12) | 45.0020) | 65.94(10)
20 AY0 | A | 98.16(13) 127.62( 6) [ 146.16( 4) | 71.10(42) | 44.88(28)
30 MK | - ; :
3. MSU | F 42.0046)
2 WKA | E 38.3408 |
3B YR [ - : : 22.44(24) |
3. S.UC | A 110122013 £ 154.80(14) | 146.88(15) | 118.44(15) | 102.60(26) | 131.76(17)
B TS| - i : i | 97.74016)
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RYTHMES EN ARTICULANT ET EN MACHANT

“PaPa- - -" “TaTa” | “KanKan” MACHANT

C.NNOM [PHASE 3-3-7 70 30 CONTINU SENBEI  AUTRES

TENPO(F.) TEWPO(F.) TEMPO(F.) TEMPO(F.) | TEMPO(F.) | TEWPO(F.) | TEMPO(F.) TEMPO(F.)
% VS0 | - 83.04(12) | 77.34(16)
37.TM | E |} i i 64.80( 4) | 68.58( 6) | 118.26(15)
38 DKA | - : 52.44013) | 69.48(11)
vy o i i s0.88(2 | 26202 93.48(20) | 76.38(14)
4 HTA|F ! : 50.82(25) | 67.08(13)
o T | F o 82.50(35) | 92.58(26)
2.K80 | - : ; ; 49.32(34)
43 MY | E i i i 76.02(9) 139.02( 4) | 71.28(21) | 58.08( 6)
4 TEG | - ! ! f ! 59.64(36) | 67.20(11)
45. TEG | - ! : : : 45.06(18) | 73.20(11)
s MiS | A 95.6400) {198.0818) | 74.04(7) | 68.94( ) | 431420 | 41.64(10)
4. Tal | - i ; i :
48 MKO | F ! 54.30( 6)
0 Tas | - |
5. S.H0 [ F i 45.00(5) i 41.52(7)
51 KOK | F i
5 NTA | F | i
53 Mas. | F 2.16(23) | 62.04(8)
5. KWA | E | 47.64(11) | 40.92(3)
5. Y.IB | F | 98.22(10) | 109.86(13)
5. NML | F | | 53.88(9)
57 YiHAS|FELR i
56 WFU [ E i 64.50(16) |
5. AlS | B i 91.50(13) | 137.76( 8) | 148.08( 4) | 101.04(32) | 84.24( 9)
60. RKA | - 77.8209) |
6. T.SA | E 122. 64 (66) : 123.00 (40)
62 MHA | F 54.06(27) | 80.88( 6)
63 Ky.W | E 48.60(9) | 66.24(9)
64. SMI | E i 50.22(36) | 71.04(20)
65. AiK | F i 30.06(6) |
6. Yul | - i : :
67 ASU | B | 58.6208) | 63.66(6) | 66.66(4) |135.72(2) |146.16(2) | 112.74(2) :
68. W.SA | F i i 78.48(39) | 95.82(15)
69. ETO | - | 55.92(7)
70. HKA | F
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PHASE 1

889884 @@@é%é

( case No.172 f,1.04 years )
PHASE 2
( Case No.72 M.4.06 years

é‘ @ @ @ g g ; cane No'47 m5.03 years )
v ' s . ' '

( Case No. 118 f.2.10 years )
PHASE 4 ; ? ( q@if

( case Wo.20 f.6.01 years )

( Case No.119 mM.3.04 years )

Seven developmental phases of the “duck’s walking"” pattern ( "5 sec.)

16



(1% sec )
Developmental "duck’'s walking” patterns for evaluating
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SUBJECTS

RETARDED DOWN AUTISM TOTAL

AGE M E M E M = M F
14 - 15 2 1 (0 (o) 6 1 B2
12-13 5 1 2850 4 1 1 2
10-11 1 2 2 1 S5.C8F 2 8¢ 15
8- 9 Qi 4 1 3 3 1 13888
6- 7 9 2 00 20 11 2

36 9 25
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Phase

O:RETARDED A:AUTISH O:DOWN
6
. nn A
5_
. . A0 A A
44 -
o o o A
A . ° A A
34
s] a]
. . .
2 o
a0 A
.
A0 o0 A e . A
14 -+
o )
o o
0_ ts
o a]
| I T T T T T
6 7 8 9 10 n 12



Phase 3 Phase 5

‘ @(“‘
\ }
41 \)‘,‘, U
( C.N.78.4:00 yrs.) (C.N.34.5:09 yrs.)

Phase 4

(C.N.71.4:07 yrs.)
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THE DEVELOPMENTAL PHASE OF SKIPPING

SKIPPING

A
O :RETARDED
A :AUTISH =
O:poww 5 .
n /
o ale ¢
a A
./. A
° ala '€ A
° 2| o A
= 2 alo ® a| y- 55
o e Ale A 3|
Al 7 o R = 0.853
° o
ol e A
1 2 3 4 5 6
Pl AT ST E

22
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HEOFPER TSNS G
HOPS

120 — O : RIGHT
L _J

s¥st e T
110
pu 5 4

so g = =
70
60 —

50-1
40 — ] /

30 (=
20 —
1
10 —
¥ 1

S e .

T T T T T T

1 2 3 4 5 6

P H A S E
SR ANE - S . E T 0 NG
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T PP NG
TAPS

80 O : RIGHT
® : LEFT
70 — N - B4
R = 0.667

60 —

50 —

30

20 —

B
e

BELMCTALS EE

SO RGR O E SR SEETR T SR N B



"PAPaA--—-"

63
R = 0.645

30

4 I L I

[=] o
~N -

Vd¥d. ¢ SNOILIL3d3Y 40 Y3WAN 3HL

PHASE

STAGE-SETTING
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WALKING

Too FAST - PREFER - Too sLOw

T T T T T T
1 2 3 4 5 6
P HASE

SHIFARGHER= SEERTRTSIENR6
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62
6312

61

A : STAINLESS STEEL PLATE
0.2 x 10 x 30 mw)
Bie TAPRE SN ETEN
(TOKYO SENSOR. 107-LS.
3.5 x 10 x 30 mm)
111 C:SILICON G ON

27



[57=8 93 ] [ B:UTSUSC11 ] case =1 msec =1
rumber = 21 mode =1 tempo =0
miss (LH-B-T)=( @ @ @ ,(RH-B-T)=(0 @ @

A ;
RIS / .
WA TR Pa P u?ﬁ )

,..n, /' ?\ / x/ / \\, ‘/f\\'

AN RATARS A .‘.\1.\(‘1 WY
left heel — LH B
left ball - LB 4=
left toe leliReR G
right hesl REZHA51=¢3
right ball 3 RE 46€4-
right toe e RT €49~
left tempo = 129.3
right —
cyucle

28



Phase 0

L.

Heel
Ball
Toe

Heel
Ball
Toe

966 msec

7.826)
H S 4 el | T T
) i L e
o 458 -1 (17.391 =
{36266 H— —
(8.696)
o) [ 1 ]
— 133.109 ; } i (1.738)
7} { 45.087 H—
=T } {__18.220
(8.696)
[y ————————
0 50 100 %
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Phase 0

HZ
Too fast
3 -
Synchro )=148
Prefer
Too slow
2 4
: L.Heel On - R.Heel On
1 ® : R.Heel On - L.Heel On

15 SEC
STEPS



Phase 1 876 msec

(2.765)

L. Heel H 28.262 — (d.922) (| ey
Ball | 38.076 — 1 (5. ovil —_{
Toe —— 13.067

(3.J587)

R. Heel izla‘"”” & (0.922)
Ball —— o T Al } (7.373)
Toe 1T —12.753 }—

::.__‘! — =
o ]
0 50 100 %



Phase 1

HZ
3 Too fast
Synchro )=148
P’-..o(
, ‘o o Prefer
/\ ?S Too SLK
7 &
O : L.Heel On - R.Heel On
5B ® : R.Heel On - R.Heel On
r T T T T T T T T Ty, T T T T T T
0 5 10 15 SEC
SHIBEZPSS



Phase 1022 msec

(11961)
L. Heel 25.809 H |
. (0.000)
Ball H—{_ 45.571 — (18 50D) '—I_—E
Toe H 3.236
(0]o00)

R. Heel }—ﬁ?'ﬂﬂ_f_—‘_' (0.000)
Ball H—— —— 42,697 el is a01)
Toe . — e | —-15.352

—t =
el L ol o

|
0 50 100 %



Phase 2

HZ
Too fast
Bl Synchro J=148
Prefer
N—\ /\/’—\‘ TDD SID"
-] V Ran X
/ "R.‘V,,'\‘ A ‘l' \\Ld, L 0-1\‘,_.,‘* ' ‘v \}{"‘.'
LT R N R
°o- i ¥ v
2
O : L.Heel On - R.Heel On
il
® : R.Heel On - L.Heel On
r T T T T T T T T T T T T T T T T T
0 5 10 15; SEC

STEPS



Phase 3 1025 msec

(0.000)

L. Heel H o 8 e ) (4.895) H—

Ball (M7=l 38,277 + m (10.490) H
Toe — s
(0.699)

R. Heel -+ — 35-306] — (6.294)
Ball F——i I 34,597 H— (17.489)
Toe o (A0 o | H | 5.80a}—

Lam
_:—1-4 I
0 50 100 %
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Phase 3

HZ

Too fast

Synchro J=148

e

o Prefer
A A o # Too slow
\ ,
! v '
a il A i o 4A k

O : L.Heel On - R.Heel On

® : R.Heel On - L.Heel On




L. Heel
Ball
Toe

R. Heel
Ball

1028 msec
I I I
] (1).493)
i s (a5 i
38.000_______} (oiloe) —{
H—A376 H
(o} 000)
H ETZLH [—j—'—| (3.980)
{ H 39.234 ————-
— H—{mae— %
-
B TN
[ ]

100 %



Phase 4
HZ

Too fast
Synchro J=148

Prefer

/_\A/\\\/\ Too Slow
1 LA o

2
O : L.Heel On - R.Heel On
i ® : R.Heel On - L.Heel On
0 5 10 15 SEC
ST ERPS



Phase 5 1035 msec

1 (04775)

L. Heel —1————_-]:-130'231 B (0.000) R
Ball h— 42%3 e ft—— S [} o B,

Toe ——_Gz_s89 —
(04775)

R. Heel _4—_::‘"""5 & (0.775)
Ball 1= H 39.408 1 (s.426)
Toe —- ——{seer —

= e e h
0 50 100 %
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Phase 5

HZ
Too fast
3 -
Synchro J=148
Prefer
Too slow
W "‘
A - v
o L) el 2
O w4 '. /
= b-’ Y 4
2 ¥
O : L.Heel On - R.Heel On
11 ® : R.Heel On - L.Heel On
F T T T L} T T T T T T 1 4 T T T T T T
0 5 10 15 SEC

SETENPAS



Phase 6 1032 msec

L. Heel
Ball
Toe

(04000)

R. Heel _1_‘:—'32-30‘ H (0.000)
Ball B s A1 77 (0.000)
Toe 11— — i6.135 }—

(at e
0 50 100 %



HZ

Phase 6

Too fast
Synchro }=148
Prefer

Too slow

5l

O : L.Heel On - R.Heel On

® : R.Heel On - L.Heel On

T T T T T T T T

10 15 SEC
SElEERPAS)



CRYECAL B0 R SETHERPSS

2 3 H Z
A 1 1 1
P H  ASTE o 6 s
® RIGHT
5 T O LEFT
3 ’A_:
3 A———c
2 It
1 N
0
T T T T :
2 3 H 2z
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LEFT BALL-TOE OVERLAP TIME
RIGHT HEEL ON - BALL ON

0 20 40 1/ cveLe
A 1 L 1 L i 1 1 L
PHASE 6 ’_E ( 0.000)
ey L
5 ( 1.550)
——
( 0.775)
s
y ( 6.468)
———
3.980)
1 :
3 e — (10.490)
— ( 0.699)
2 — (18.301)
EE = ( 0.000)
1 —— ( 5.991)
0 ( 3.687)
Py L e fLo
e e i
T T T T T T T T
0 20 40 1/ cvcLe



B 2 i
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EAXADEOBTRICBILIHERZFHNRN

BAUNEEEIHEREEZR - EXADUHEBEFRRABS

1101B10pe te ]

[ I IS

LtEEHBERZREEHRARIK RERAEHEE
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EH
=
s
=
=
==t

EWASEORRD

=t

Stage-setting # 0 H E M 2 0 # &

Uil b B oty = R
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T

name
R ERUEd]
TS RlE AN
TR E il
C. MUR
M, SAW
NEVHERUSK
Yo ST AT
M., SAN

s

e X

age

172

02

107

5l

110

110

handicap

%N

MMmEEESR, SEME

040 i Y AE % OF

ERCEOR o)

K 3 E

aAyw74v0-Y)-FERY

BHE, MMRELER., SEME

AME. DERBRHEE

VAN %8

A%y 7T
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Al b iRl e et g N RS ey

<— double appui antérieur de réeeption e mnomnomenm appul unilatéral
m N

£ i B
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121

a

'_;) 111

4

A 1 STAINLESS STEEL PLATE
0.2 x 10 x 30 m)
BaTAPE SWITCH
(TOKYO SENSOR, 107-LS,
3.5 %10 x 30 m)
CaSILICON GON



K FUJ(R0.0)  WALKING E.M.G. 7-%

[KA2] meen= 872.000(sd Imsec. tempo=137.615 tn

Cchl

» Heart R.wvave

4 L.Erec.spina.

3 L.Tibi.anter. |‘ e ’~ o Al A e hha U e T g U b b
2 L.Gastrocnem.
R
6 L.Foot sencer
—/
R R

1 R.Tibi.anter. SO . A -‘L e A
0 R.Gastrocnem. AL RO PV T VTN ) W

7 R.Foot sencer [~
600 700 800 900

0 100 200 300 400 500
[ kA2 12:02. m ) EMG data from 388 to 510( 106.384 msec / cycl 872.000 msec) [ KAZ 12:02. m ) EMG data from 511 to 614( 89.816 msec / cyecl 872.000 msec)
4 L.Erec.spina. a=" 4 L.Erec.spina. = f
3 L.Tibi.anter. 3 L.Tibi.anter. '
- ]
2 L.Gast . 2 L.Gast .
astrocnen astrocnen. | |
|
1 R.Tibi.anter. 1 R.Tibi.ante f
—— ey ]
0 R.Gastrocnem. 0 R.Gastrocnem. ‘
=a— ] |
|
o 130 260 390 520 (mv) o 130 260 390 520 (mv)
ch total meen ad ch total meen sd
4 3942.260 32,061 20.097 4 3474.030 33.404 18.276
3 8790.320 71.466 52,719 3 18138.,300 174.406 131,703
2 79147,700 643,477 630,640 2 3507.210 33,723 16.254
1 35999.500 292,679 189.875 1 9872.,030 94.923 49.525
0 5531.540 44,972 .634 0 8316.000 79.962 69.933
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PREFER (K. FUJ.12:02. 1)
[ B:FUJIC12 ] case = 1 mode = 1 m sec= 1 synchro=0 cycle = 15
no touch 7 cycle (LH-B-T)=( @ @ @, ((RHB-T)=(B @ @
tempo = 121.147 (sd 2.575) h.rate = 93.838 (sd 1.676)
/\ 0« N
L A1y \>\ L ! A//‘ Ny
\/l.. A h
N LN
left heel — LH 8- 293
left ball LB 167- 309
left toe — LT 440- 112
right heel RH 5@8- 258
right ball RB 605- 346
right toe == RT 90@- 136
left 552
right 528 —
cycle 991
462.600 msec ( 998.533 msecscycle)
left heel LH 26.185
HB 27.309
left ball BO 31.734
BT 7.768
left toe T0O 7.004
20.968
right heel
right ball
right toe
41.412)

LH -9.872( 0.00@)- 53.495( +8.36@)%

LB 26.185(-12.993)~ 92.996(+15.574)%
LT 85.228( -5.175)-1@9.526( +4.513)%

A)

®)

(A) heart

i
I
i
;
!
|
|
|
|
|
i

rhythm

|

RH 0.8008( -1.882)- 55.7@0( +7.738)%
RB 20.969(-10.021)- 95.763( +8.974)%
RT 84.718( -8.801)-114.123( +7.574)%

|

(B) walking cycle
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TO0 FAST (K., FUJ, 1202 1.)
[ B:KEN2C24 ] case = 1 mode = 2 sec= 1 synchro=0 cycle =10
no touch -~ cycle (LHBT) (8 8 @, (RH-B-T)=(0 %))
tempo = 172.961 (sd 2.923) h.rate = 118.416 (sd 15.425)
1Ll / 1T 1
AN \

Y

left heel p— LH 8- 182
left ball LB 162- 143
left toe e LT 255- 118
right heel RH 354- 189
right ball RB 478- 163
right toe e RT 576- 126
left 365
right 348
cycle 694
344.902 msec ( 693.80@ msecscycle)
left heel P LH 44.419
HB
left ball BO
BT
left toe TO
RH
right heel
right ball 3
right toe [ = — ]
( 28.052— 6?.9@7— 93.761)

LH -2.493( ©@.000)- 53.175( +3.890)%
LB 44.419( -7.10@)- 85.996( +6.262)%
LT 71.383( -3.211)-103.363( +2.418)%

)

)

(A) heart rhythm

RH 0.008( -3.081)- 54.857( +3.702)%
RB 33.720(-13.329)- 81.038(+10@.729)%
RT 64.627( -5.022)-101.168( +2.944)%

(B) walkina cucle
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TOO SLOW (K.FUJ,12:02 n.)

[ B:KEN3C31 ] case = 1 mode = 3 m sec= 1 synchro=0 cycle = 14
no touch ~ cycle (LH-B-T)=( @ @ @, (RH-B-T=(B B8 @
tempo = 81.6@81 (sd 2.552) h.rate = 89.218 (sd 2.475)
1 1 PN Il Al/l [ 11
P */\ N

Sa L Ve 2 iy

Dt A Pl o o AN

left heel LH i
left ball LB 303- 474
left toe LT 7@5- 158
right heel RH T7§3- 488
right ball = S~ 514
right toe st 15
left 863
right 798 —
cycle 1471
672.286 msec (1470.578 msec/cycle)
left heel [ LH 31.481
< HB 37.835
left ball BO 22.068
BT 18.561
left toe TO -1.944
: RH 30.833
right heel : = =
right ball : b esee—— e}
right toe L = =
: ( 28.831- 4

LH-13.515( ©.80@)- 69.316( +8.49@)% RH ©.008( -6.182)- 72.588( +8.224)%
LB 31.481(-18.787)-101.944(+28.012)% RB 30.833(-13.866)-107.289(+14.937) %
LT 91.383( -5.765)-114.896( +3.139)% RT 86.762(-10.494)-118.742( +8.025)%

1
() :
i
i
i
i
!
i

®

(A) heart rhythm (B) walking cucle
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Afi7y8=120 (K. FUJ, 12:00 1)

[ B:KEN3C41 1 case = 1 mode = 4 m sec= 1 synchro=08 cycle = 11
no touch # cycle (LH-B-T)=( @ @ @, ((RHB-T)=(@ B8 @
tempo = 123.261 (sd 2.068) h.rate = 97.720 (sd 2.162)
| 1 1
I N 1 1N

., A) IBA

IASAVAAIA

left heel LH @8- 292
left ball LB 229- 242
left toe ——— LT 422- 120
right heel RH 496- 279
right ball RB 624- 323
right toe z== RT 878- 145
left 542
right 527 |—
cycle 974
3 447.008 msec ( 973.54§ msecscycle)
left heel [ i LH 42.289
: i HB 14.094
left ball i B0 29.062
i BT 10.901
left toe i 70 5.654
: : i RH 28.595
right heel : —— :
right ball § | i : e ey
right toe ——
( -2.119~ 26.253- 54.624)

LH-18.921( ©.82@)- 54.383( +6.314)% RH ©.080@( -1.95@)- 62.436(+1@.559)%
LB 48.289(-11.822)- 94.346(+12.192)% RB 28.595( -7.993)-108.773(+11.740)%
LT 83.445( -4.435)-118.291( +3.515)% RT 85.459( -8.201)-117.795( +5.998)%

!
(G :
!
!
!
I
!
!
® i
|

(R) heart rhythm (B) walking cycle
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[ B:KEN3C48 1

R8T E=720

case =

1

mode =

no touch 7 cycle

tempo

= 119.963 (sd

4 m sec= 1
(LH-B-T)=( @ 8 @, (RHB-T=(0

1.681)

LY

(K. FUJ. 12:02. n.)

synchro=728 cycle = 13

%))

h.rate = 93.612 (sd 1.929)

WA

AN

AL

left heel LH a- 321
left ball LB 175- 326
left toe — LT 460- 188
right heel RH 515- 30@
right ball RB 655- 343
right toe e RT 9@1- 153
left 567
right 541
cycle 100@
460.615 msec (1008.312 msec-cycle)
left heel : LH 26.303
HB 31.663
left ball BO 38.977
BT 9.885
left toe TO 2.872
RH 30.377
right heel
right ball
right toe —e— e
( -1.743- 26.208- 53.759)

LH-11.748( 0.000)- 57.966( +7.511)

LB 26.303(-10@.155)- 97.128(+11.528)%
LT 83.@43¢ —3. 71111 .428¢ +2. 831\ %

Q)

®)

e

hzart

rhythm

B) walking cyclz

95

% RH @.0@a( -2.389)- 6€5.197(+10.200)%
RB 30@.377(-10.489)-104.927 (+16.41@)%
KT 83.23RC —V.TVI-1T AR Q. A%



TOO FAST (C.MUR, 10:10. n.)

[ B:MUCHCB4 1 case = T mode = m sec= 1 synchro=8 cycle = 13
no touch -~ cycle (LH B-T)=(@ @ @, (RH-B-T)=(@ B8 @
tempo = 166.0828 (sd T.479) h.rate = 185.471 (sd 4.236)
v
[ 1l I
1. 11
NOATANA
: L
left heel - LH 8- 283
left ball F— EBFEEATS= 1 1
left toe Fo— ST 29] =983
right heel RH 362- 210
right ball — RB 542- 97
right toe 3 — RT 638 87
left 375
right 374
cycle T23
348.538 msec ( 722.769 msecscycle)
left heel i LH 45.840
HB 1@.351
left ball BO 21.430
BT A=2.229
left toe TO 22.379
RH 51.755
right heel
right ball
right toe o
: A s s ( 7.178- 18;484- 29.798)
LH -3.752( ©@.0008)- 56.191( +7.21@% RH 0.288( -7.784)- 60.238( +6.769)%

LB 45.84@( —7.762)— 77.621( +7.412)%
LT 79.858(-11.336)-183.752( +5.462)%

) |

(A) hzart rhythm

RB 51.755(-13.424) - 79.497( +5.858)%
RT 79.629(-12.568)-1@7.371( +3.353)%

(B) walking cycle
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TOO FAST (C.MUR, 10:10. n.)

[ B:MUCHCE4 ] case = 7 mode = & m sec= 1 synchro=a cycle = 13
no touch ~ cycle (LH-B-T)=( @ @ @, ((RHB-T=(0 @
tempo = 166.828 (sd 7.479) h.rate = 185.471 (sd 4. 236)

/ A

left heel — LH 0- 2038
left ball —— B TS=111
left toe m— LT 1 281- 83
right heel RH 362- 210
right ball m— RB 542- 97
right toe = — RT 639- 97
left 375
right 374
cycle T23
348.538 msec ( T22.769 msec/cycle)
left heel i LH 45.840
HB 1@.351
left ball BO 21.430
BT is2.229
left toe TO 22.379
RH 51.755
right heel
right ball 3
right toe —e=
( 7.178- 18i484- 29.798)

LH -3.752( @.008)- 56.191( +7.210)% RH ©.08a( -7.784)- 60.238( +6.769)%
LB 45.84@0( —7.762)—- 77.621( +7.412)% RB 51.755(-13.424) - 79.497( +5.858)%
LT 79.858(-11.336)-1@3.752( +5.462)% RT 79.629(-12.568)-187.371( +3.353)%

) |

rhyt hm (B) walking cycle

Y




TOO SLOW (C.MUR, 10:10. n.)

[ B:MUCHCT1 1 case = T mode = 7 m sec= 1 synchro=0 cycle = 8
no touch 7 cycle (LH-B-T)=(@ @ @, ((RHB-T)=(B @ @
tempo = 104.45@0 (sd T7.853) h.rate = 92.593 (sd 8.683)
i
(53 1 L4l LN
e~
left heel prm——- | H 8- 485
left ball LB 317- 260
left toe — LT 685- 68
right heel RH 554- 512
right ball RB 981- 174
right toe | — RT 1165- 8@
left 653
right 692 ——
cycle 1148
: 457.25@ msec (1148.878 msecrcycle)
left heelf LH 48.19%
: H8 39.892
left ball: BO 17.660
: BT =1.941
left toe TO =4.948
: RH 93.412
right heel: i
right ball e
right toe : n——E-«
______ ( 8.349- 42.685- 77.022)

LH-21.058( ©.900)- 87.288(+15.394)% RH 0.008(-12.196)-111.892(+18.855)%
LB 48.196(-4@.512)-104.948(+38.564) % RB 93.412(-26.123)-131.356(+12.838)%
LT1@6.889(-12.182)-121.761( +2.413)% RT133.789(-20.592)-151.258( +4.903)%

i !
i i
I !
I ‘ !
i i

i
i i
i 1
1
'

i
®) H
!
I

(AY h=2art rhythm (B} walking cycla
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Afi7y=120 (C. MUR. 10:10. n.)

[ B:MUCHC42 1 case = T mode = 4 m sec= 1 synchro=@ cycle = 6
no touch ~ cycle (LH-B-T)=( B @ 1), (RH-B-T)=( @ %))
tempo = 122.470 (sd 4.254) h.rate = 184.4338 (sd 5.322)
\ T A
pAal 1 % B AN
1 1
VAN

A AN A
left heel oo LH 8- 351
left ball LB 3@8- 135
left toe — LT 464- 64
right heel RH 482- 354
right ball —— RB 786- 127
right toe e —— RIIH939= 87
left 512
right 544 —
cycle 980

: 436.167 msec ( 979.833 msecscycle)
left heel [ 58.235
left ball
left toe
right heel
right ball
right toe =

( 10.519- 43.179- 75.840)

8.002)- 69.927( +6.695)%

LH-1@.478¢(
LB £8.235( —7.171)- 89.071( +5.58%)%
LT 96.083( -6.449)-118.722( +4.821)%

() %
I
!

®)

(R) heart rhythm

RH ©.000( -3.854)- 81.123( +9.108
RB 68.736(-16.413)- 98.854(+12.589
RT104.738(-11.048)-124.647( +3.746.

NN N

)
)
)

(B) walking cycle
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PREFER (M. SAW, 10:10. f.)

[ B:SMISC11 ] case = 3 mode = 1 m sec= 1 synchro=@ cycle = 14
no touch 7 cycle (LH-B-T)=( @ @ @, ([RHB-M=(B @ )
tempo = 138.202 (sd 3.222) h.rate = 111.988 (sd 13.804)
1 L Ll LA L |
t i t
\/u |y N
AL AN AW
left heel — LH @298
left ball LB 81— 362
left toe —— LT 393- 188
right heel RH 453- 385
right ball RB 584- 318
right toe = —— RT 893- 7@
left 5@1
right 510 —
cycle 922
412.000 msec ( 921.643 msec-/cycle)
left heel lH 9.535
HB 52.757
left ball BO 22.989
BT 12.084
left toe T0 2.635
RH 34.206
right heel g g :
right ball : —
right toe : »—Eﬂ
( 15.512- 39.920- 64.329)

% RH ©.000( -2.825)- 74.289(+17.339)%
% RB 34.206(-18.662)-111.356(+18.374)%
% RT106.761( -8.278)-123.708( +4.607)%

LH-10.@856( ©.000)- 62.292(+12.563
LB 9.535( -4.118)- 97.365( +6.291
LT 85.281( -9.691)-111.564( +7.707

A

i
i
i
|
|
|
i

(@) heart  rhythm (B walking cucle
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TOO FAST (M. SAW. 10:10. f.)

[ B:SMISC23 1 oase = 3 mode = 2
no touch ~ cycle (LH-B-

synchro=8 cycle = 14
)= [
tempo = 153.868 (sd 3.705

m sec= 1
)=(@ 8 @, ((RHB-T)=(B B8 @
) h.rate = 122.269 (sd 14.279)

Il/l | 1 [HITNEN) 1
RWAVATTAN
W RVNZAAY

left heel pr— LH 0- 202
left ball LB 64— 290
left toe — LT 297- 119
right heel RH 389- 197
right ball RB 457- 291
right toe = —— RT T7@7- 101
left 416
right 420 —
cycle T8@
360.871 msec ( 779.929 msec-/cycle)
left heel 9.720
38.286
left ball 26.523
15.731
left toe 9.740
18.905
right heel
right ball
right toe E
( 16.863- 44.302- 72.540)

RH 0.000( -3.143)- 54.791(+18.561)%
RB 18.9@5( -4.303)- 99.782(+12.659) %
RT 88.455(-12.215)-116.604( +8.739)%

LH -8.814( ©.000)- 48.006( +8.857
LB 9.720( -4.016)- 98.26@( +4.842
LT 74.529(-10.884)-107.499( +7.901

-

(A) h=zart rhythm (B) walking cycle
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[ B:SMISC41 ]

ASTyR=120 (M. SAW. 10:10. f.)

case = 3 mode
no touch - cycle

m

sec= 1 synchro=8 cycle = 12

(LH—B T=(@ 8 @, ((RH-B-T= (B e D

tempo = 136.5@6 (sd

1.864) h.rate = 110.851 (sd 26.52@)

L1 \ ul

& XM

left heel o LH @- 278
left ball LB 111- 306
left toe — LT 378- 95
right heel RH 439- 262
right ball RB 547- 314
right toe = — RT 826- 84
left 473
right 471
cycle 879
408.417 msec ( 879.0883 msec/cycle)
left hesl (LM 19.608
i HB 40.992
left ball i BO 24.566
iBT 9.284
left toe i T0 5.550
i RH 26.464
right heel 2 D = H
right ball == — i — 5]
right toe P—E-«
( 10.010- 48.123- 86.236)
LH -7.488( ©.000)- 60.600(+12.777)% RH @.000( -3.132)- 64.069(+18.290)%
LB 19.688(-15.937)~ 94.45@(+15.641)%  RB 26.464( -9.073)-103.385( +9.403)%
LT 85.166( ~5.413)-108.345( +5.072)%  RT 94.T77( —4.688)-115.242( +3.237)%

(R) heart

|
|
H
|
i
!
|
|

rhythm [(=3)

walking cycle
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[ B:TTESC21 1]

PREFER (T. TAN,IL07. n.)

case = 1 mode = 2

m sec= 1

no touch ~# cycle (LH-B-T)=( @ @8 @,
h.rate = 122.635 (sd 3.996)

tempo = 117.785 (sd 5.

761)

l/l (11N} III/

N

synchro=@ cycle = 14

(RH-B-T)=( @ 4 13)

e |4

N

>H\\

M
left heel LH @- 278
left ball |IBEENSB=H515
left toe — LT 534- 39
right heel RH 518- 192
right ball RB 6@8- 387
right toe = RT 1@@0- 12
left 573
right 351
cycle 1020
525.143 msec (1019508 msec/cycle)
left heel i lH 18.805
HB 43.498
left ball BO 48.653
BT 5.862
left toe T0 -8.908
RH 15.607
right heel
right ball — i
right toe

( 16.781- 52.763- 83.746)

LH 1.428( @.
LB 18.895( -2.
LT1@83.847( -5.

()]

B)

(R) heart rhuthm

|

63

|

(B} walkina cycle

00@0) - 54.393( +8.622)% RH 8.0038( -5.712)- 36.466( +7.879)%
634)-103.9@9( +7.64@) % RB 15.6@7(-11.5083)- 74.0@48(+38.185)%

8@6)-110.468( +2.257)% RT 91.853( 0.808)- 94.138( +0.000)%



PR EFBRES(T BT 810:1150")

[ B:ETAKCT1 ] case = 8 mode = 7 m sec= 1 synchro=@ cycle = 12
no touch -~ cycle (LH-B-T)=( @ @ 11), (RH-B-T)=( @ 159
tempo = 146.61@ (sd 2@.835) h.rate = 146.87@ (sd 1.618)
1141 | 1 il 1
e i
NN
A ,(:;x\\\§x{ 40 Ch
LN LN
/ﬁ\. A >// w iy wahafl o
left heel prom— LH 8- 2739
left ball LB 239- 193
left toe ' LT =488=0 112
right heel RH 381- 336
right ball = RB 597- 242
right toe - = RT 938- 11
left 435
right 482 |—
cycle 819
258.500 msec ( 818.508 msec-cycle)
lef —FeaT LH 44.971
: HB 15.442
left ball B0 59.188
: BT —21.792
lef§ toe 1 TO -19.600
RH 83.591
right heel
right ball =
rigrét toe
: (-10.544- 29.159- 68.861)

LH-47.389( ©.000)- 60.413(+43.834)% RH 0.008(-25.825)-129.948(+44.189)%
LB 44.971(-53.444)-119.60@(+24.796) RB 83.591(-69.321)-177.144(+28.711)%
LT141.393( 0.000)-142.166( +@.020) RT212.269(-54.112)-216.634( +2.885)%

) 1

|
I
i
{
i
!
§

® "

(R) hzart rhuthm () walking
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FOREEMA (T. EJI.10:00. n.)
[ B:ETAKCS1 1 case = 8 mode = 6 m sec= 1 synchro=0 cycle = 15
no touch ~ cycle (LH-B-T)=( @ © 14), (RH-B-T)=( @ 0 8
tempo = 152.944 (sd 8.11%) h.rate = 138.045 (sd 4.125)
=t
IRV/RITHITAN Lt gl
ANANLAN
ARANANVEN
left heel - LH @- 250
left ball LB 146- 256
left toe ETEN3SA- N6,
right heel RH 379- 258
right ball RB 527- 247
right toe = - RT 818- 16
left 405
right 414
cycle 785
2 329.467 msec ( 784.600 msec-cycle)
left heel [
left ball :
left toe
right heel
right ball
right toe
( 7.334- 33.064-:58.793)
LH-14.994( 0.000)- 60.846(+11.579)% RH 0.000(-10.632)- 78.652(+17.184)%

LB 29.239(-14.587)-106.941 (+11.138)%
LT101.558( ©.000)-183.379( +2.003)%

\l

rhythm

()]

(A) heart

RB 45.002(-24.178)-119.911(+16.831)%
RT133.416( —7.887)-138.143( +8.941)%
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FREEST(2ke) (T, EJIL, 10:1L 0)

[ B:ETAKCS82 1] case = 8 mode = 8 m sec= 1 synchro=@ cycle = 13
no touch ~ cycle (LH-B-T)=( @ 11 11), (RH-B-T)=( @ @ ©)
tempo = 185.713 (sd 7.691) h.rate = 132.460 (sd 1.867)
| L LLL L L LALL 1
LA N | A |

left heel LH 6- 575
left ball — LB 493- 94
left toe . L6113 6
right heel 3 RH 549- 683
right bal] Je RB 1032- 283
right toe - = RT 1285- 16
left 593
right 711 ———
cycle 1135
2 382.978 msec (1135.15@ msec/cycle)
left CheaT LH 85.368
3 HB 21.582
left : ball BO 2.832
: BT -7.050
left | toe T0 -9.782
RH 126.278
right heel E=)
right ball 5
rightf toe
: ( 15.743- 40.475- 65.208):

RH 0.008(-15.084)-157.45@( +9.558)%
RB126.278(-29.949) -179.383(+23.821)%
RT192.187(-17.70@) -196. 482( +1.473)%

LH-43.238( ©.000)-106.950(+14.988)
LB 85.368( -9.786)-109.782( +2.@31)
LT116.832( -7.755)-118.268( +B.185)

|
(T

(A) heart  rhythm (B) walking cucle
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Afi7Fy&=120 (T.EJI.10:1L n.)

[ B:ETAKC31 1 case = 8 mode = 3 m sec= 1 synchro=8 cycle = 5
no touch ~ cycle (LH-B-T)=( @ B8 3, ((RH-B-T)=(B B 3)
tempo = 139.178 (sd 8.60@1) h.rate = 127.569 (sd 1.272)
L/ L L A\ 1 ]
D NN
AL AT
left heel pram— LH @- 338
lzft b:?l hBERSIT= 62
left toe ' LT "a64= =3
right heel RH 416- 354
right ball = RB 653- 239
right toe - L RT, 905 11
left 489
right 493 —
cycle 862
: 362.800 msec ( 862.200
left heel f
left ball
left toe
right heel
right ball =
right toe P
( 8.142- 5@.165—§92.189)

LH-14.554( ©@.0800)- 78.831(+28.607)% RH ©.008( -9.778)- 97.630(+21.779)%
LB 72.933(-25.551)-117.530(+16.285) % RB 65.436(-48.231)-131.257(+32.498) %
LT113.203( -2.924)-114.@30( +8.78@) % RT134.757( -7.681)-137.652( +8.585)%

1l

®)

(A) he=art  rhythm (B) walking cycla
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[ B:SMAICS1 1

case =

tempo

PREFER (M. SAN. 7:08. f.)

5] mode
no touch -~ cycle

= 165.414 (sd 13.574)

=6 m sec= 1

(LH-B-T) =

L

N

1

synchro=0

ccle= 11

(@ 8 @, ((RHB-)=(0

2
h.rate = 118.874 (sd 16. 965)

left heel LH 2Ealif2
left ball LB 14- 251
left toe LT 221- 168
right heel RH 356- 274
right ball RB 523- 148
right toe e RT 668- 110
left 3390
right 416 —
cycle T25
: 304.427 msec ( 725.455 msec- cycle)
left heel H LH -12. 402
: HB 52.438
left ball & BO: 15.618
5 BT: 14.334
left toe TO 30.012
RH 54.768
right heel §
right ball = —
right toe e

LH-16.433( -2.166)- 40.036( +9.421
LB-12.4@2( -5.901)~- 69.988(+10.077
LT 55.854(-28.797)-110.959(+24.582

(A)

(A) heart

( 2.020- 26.533- 51.046)

rhythm

)
)
)

NNN

(€) wa

68

1king

RH -0.003(-1@.410) - 89.856 (+22.800) %
RB 54.768(-29.675)-103.383 (+33.743)%
RT102.234(-41.844) -138.301 (+12.55@) %



Foh &5 (M. SAN. 7:08. f.)

[ B:SMAIC31 1] case = 6 mode = 3 m sec= 1 synchro=0 cycle = 7
no touch 7 cycle (LH-B-T)=( @ B8 5), ((RH-B-T)=(B 1 1)
tempo = 152.891 (sd 18.315) h.rate = 183.428 (sd 3.563)
M

/)

1 1 |

BN/Z

left heel o LH @ 254
left ball LB 98- 245
left toe [ LT 302- 113
right heel RH 364- 299
right ball RB 6@9- 133
right toe = RITETI6N]1 3D
left 360
right 452 [~
cycle T89S
306.286 msec ( 789.008 msec-ciucle)

left heel [ LH 12541

: HB 53:452
left bal BO 143855

BT 11:591

left toe TO 9.562

: RH 79.843
right heel : 8
right ball i ==
right toe ———

(-18.461- 3.483- 25.427)

LH-18.937( 0.002)- 63.993(+19.118)% RH 0.000( -8.44@)- 97.715(+11.824)%
LB 10.541(-28.837) - 90@.438(+32.226)% RB 79.843(-21.224)-123.321(+10.309) %
LT 78.848( -7.619)-115.578( +2.54@)% RT114.614(-22.398)-157.683( +9.538)%

RIS

A h=zart rhythm @®) walking cuycla
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AfFyE=120 (M. SAN. 7:08. f.)

[ B:SMAICT1 1 case = 6 mode = 7 m sec= 1 synchro=@ cycle = 7
no touch # cycle (LH-B-T)=(@ B8 @, ((RH-B-T)=(B 4 2)
tempo = 128.251 (sd 11.288) h.rate = 111.255 (sd 208.844)
1 == T s
1 N 1 1 1

AW S 4NN
N NEFA %N

left heel LH Q- 273
left ball LB 1085- 261
left toe — LT 374- 108
right heel RH 473- 345
right ball B — RB T745- 115
right toe = — RT 887- 89
left 479
right 448
cycle 928
426.029 msec ( 928.42¢

left heel
left ball
left toe
right heel : e ——
right ball : : : —
right toe T

( 12.998- 56.576-100. 153)

LH-11.025( ©@.000)- 53.088(+16.384)% RH ©.008(-10.376)- 80.88@( +8.919)%
LB 13.621(-19.119)— T74.784(+26.99@) % RB 63.924(-19.058)- 9@.917( +3.689)%
LT 76.662(-10.212)-181.589( +4.276)% RT 97.@83(-22.152)-117.926( +4.402)%

®

(A) hzart rhythm (B) valking cycle
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PREFER (Y. TAK. 8:00. n.)

[ B:TUSEC11 1 case = 5 mode = 1 m sec= 1 synchro=@ cycle = 18
no touch ~ cycle (LH-B-T)=( @ @ B, ((RH-B-T)=(0 a)
tempo = 141.283 (sd 5.881) h.rate = 114.473 (sd 33.20@)

1Ot R |

left heel e LH @8- 228
left ball LB 1@5- 205
left toe LT 296- 144
right heel RH 412- 239
right ball RB 482- 281
right toe = RT 730- 130
left 439

right 449 f

cycle 849

400.80@ msec ( 849.30@ msec-cycle)

left heel i iLH 23.328
: i HB 30.739
left ball iBO 16.891
iBT  3.543
left toe 1 TO 25.499
iRH 19.868
right heel 2
right ball i
right toe —==—="

( 8.307- 31.637- 62.966)

RH 0.0208( -5.398)- 59.581( +6.6@3)%
RB 19.86@(-18.385)— 69.885 (+25.7@5) %
RT 79.391(-11.447)-111.901( +3.828)%

LH —2.794( ©.0@0)- 54.867( +4.682)
LB 23.328(-12.981)- 74.5@1(+18.751)
LT 70.958( -5.827)-1@6.836( +1.271)

NNN

(A)

®

@) hzart  rhuthm (B walking cuc
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TOO FAST (Y. TAK. 800. n.)

case = 5 mode = 2

no touch ~ cycle

[ B:TUSEC22 ]

tempo = 142.857 (sd 9.850)

(LH-B-T)=( @ @ @,

synchro=0 cycle = 15
(RH-B-T)=( @

m sec= 1 !
h.rate = 111.958 (sd 21.348)

T T
% 1 \n 1 (1511 [ ]
AN M.
\ LCNLAON .
left heel - LH 0- 238
left ball LB 88— 260
left toe ] LT 312- 130
right heel RH 412- 233
right ball RB 472- 264
right toe = — RT 733- 123
left 442
right 445 f
cycle 842
left heel
left ball
left toe
right heel
right ball
right toe =
( 6.064- 44.392- 82.721)

0.000)- 56.213( +5.969)%
LB 18.209(-11.826)— 83.966(+16.919)%
LT 74.743( -6.731)-187.578( +4.012)%

LH -4.097(

()]

11111

(A} h=art rhythm

RH 0.008( -8.454)- 59.046( +8.514)%
RB 15.242(-22.306) - 82.8608(+21.529)%
RT 81.251(-14.634)-112.443( +5.223)%

(B) walking cycl2
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TOO SLOW (Y. TAK. 800. n.)

[ B:TUSEC31 1 case = 5 mode = 3 m sec= 1 synchro=0 cycle = 16
no touch ~ cycle (LH-B-T)=( @ B8 @, ((RHB-)=(B B8 @
tempo = 117.878 (sd 7.374) h.rate = 117.212 (sd 16.426)
|

AWAMIAYS AN

-
7]
]
I
w
s
o

left heel
left ball LB 168- 27@
left toe LIS SSye e 3T,
right heel RH 472- 337
right ball RB 525- 4@7
right toe = RT 912- 134
left 533
right 575 —
cycle 1018

left heel
left ball
left toe

right heel

right ball
right toe
( 0.189- 31.181

LH -6.423( 0.002)- 64.460( +9.426)% RH 0.00a( -8.188)- 75.856( +3.762)%
LB 31.357(-10.594)- 92.14@( +9.868)% RB 11.798(-19.649)-1@3. 479(+24.551) %
LT 82.941( -9.425)-113.791( +4.417)% RT 99.169(-12.491)-129. 441 ( +7.503)%

Y

®)

(A) heart  rhythm B) walking cyzlz
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AE7yR=120 (Y. TAK. 800.0n.)

[ B:TUSEC42 1 case = 5 mode = 4 m sec= 1 synchro=8 cycle = 14
no touch 7~ cycle (LH-B-T)=( @ @ @, ((RHB-TH=(0 B8 @
tempo = 129.37@ (sd 5.632) h.rate = 1@9.317 (sd 14.633)
I
11 Il \ﬂ I /L

left heel e LH Q- 273
left ball LB 58— 341
left toe LT :357= 136
right heel RH 454- 287
right ball RB 490- 361
right toe 3= S—— RT 829- 127
left 493
right 5@2 —
cycle 928
425.214 msec ( 927.571:msecscycle)
left heel iLH 7.005
:HB 5@.462
left ball :B0  19.822
BT 9.978
left toe :TO 12.733
RH  8.651
right heel :
right ball
right toe :
( —3.920- 284813— 57.547)
ST

LH -6.852( 0.800)- 57.46T7( +7.262)% RH ©.000( -6.387)- 67.411( +6.568)%
LB 7.805( -9.533)- 87.267(+11.541)% RB 8.651( -8.122)- 93.516( +6.028)%
LT 77.289( -7.528)-109.205( +2.958)% RT 88.325(-11.049)-118.142( +2.567)%

(A heart rhuthm (E) walking
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PREFER (N. FUK. 8:02. n.)

[ B:FNORC12 1 case = 4 mode = 1 m sec= 1 synchro=0 cycle = 12
no touch ~ cycle (LH-B-T)=(@ @ @, (®RH-B-M=(2 @ @
tempo = 142.833 (sd 13.576) h.rate = 111.222 (sd 4.096)

I aa

|
B

NN
A N /
left hesl p— LH 8- 193
left ball LB 263- 186
left toe — LT 452- 45
right heel RH 432- 228
right ball = RB 450- 4@3
right toe [mm - RT 856- 47
left 437
right 483
cycle 84@
377.250 msec ( 84@.208 msecscycle)
Tertht heol v == i LH 38.584
: : HB -18.481
left ball : Bt 1=z = : BO 48.774
s : : BT -0.79%
left toe : : ==a T0 11.928
right heel e e
right ball ol »
right toe : E:
¢ 1.735- 29.548- 57.345)

LH-16.678( 0.000)- 36.584(+15.691)% RH 0.02808( -9.220)- 60.437(+19.577)%
LB 53.545(-18.529)-102.319(+10.959) % RB 4.771(-12.867)-115.597(+21.429)%
LT183.215(-13.139)-114.943( +3.761)% RT112.392(-22.487)-124.851 ( +5.543)%

-l
|

(R) heart rhythm (B) walking cycle
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R#FvH=120 (N, FUK. 802 n.)

[ B:FNORC41 1 case = 4 mode = 4 m sec= 1 synchro=0 cycle = 7
no touch ~ cycle (LH-B-T)=( @ @ @), ((RH-B-T)=(1 @ @
tempo = 154.355 (sd 8.263) h.rate = 104.348 (sd 5.370)
/\\A 2 ’Q
left heel - LH
left ball L8
left toe = LT
right heel RH
right ball RB
right toe [m= — RT
left 423
right 432
cycle 774
334.541 msec ( 774.42_'9 msecscycle)
left heel i LH 30.849
: HB -28.289
left ball O i BO 64.7@6
: BT ~ 9,997
left toe —H : To -3.694
: RH 2.832
right heel
right ball = ——
right toe i ==
A ( 12.696- 30.507- 48.518)

-13.084) - 53.506(+25.337) %
RB 2.690(-14.891)~112.692(+14.193)
RT116.578(-27.947)-131.523( +9.213)

LH-17.892¢( @ 000) - 30.849(+23.692)
LB £9.138( -9.95@)-123.844(+18.621)
LT110.344¢~ 1B 935)-120.251( +3.151)

.\‘.\'.\'

NNN

)

B)

(A) heart rhythm (8) walking cycle
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B. Bt B B OE O

BERE®S Gastrocnemius

TH W R

AT P i 4% 5 WM
Tibiol nerve Popliteal artery

g 25,

LUK

AR B Tibialis anterior

T A B 1 AR
Anterior tibial orlery

RBERA AR

FRAe
Deep peronecl nerve

sLe UK

77




ke meen=1047.000(sd 67.882)msec.  tempo=114.613(sd 7.431) heart rates115.570(sd 0.959) t2)
tch
7 Tempo signal | |
5 Heart R.vave L
4 L.Erec.spina. |4
rec.spina k- o
3 L.Rect.femor.
Py vy b A A
2 L.Blce.femor. y\
A R ANl o
1 L.Tibl.anter. \ auncibits, ALt \ "~ -
A e
6 Force plate |
>
0 100 200 300 %00 500 600 706 800 500
[ kC1 12:02. m ) E.M.G data L.Tibi.anter. (cycl 1047.000 msec) [ kC1 12:02. m ) E.M.G data L.Tibi.anter. (cycl 1047.000 msec)
from 916 to1000 from 406 to 513
s
Y romd i ctarileT from 513 to 632
from 97 to 193 from 632 to 750
from 193 to 406 [t~ from 750 to 916 it
o s 167 250 33 a7 () o [ 167 250 335 IO
total meen sd total meen sd
12026700 141,491 48.431 35243.,300 326,327 169.172
16422.100 169,300 56.758 15542.500 129,520 71.704
11010.200 113,507 50.339 14928700 125,451 56.872
11237.300 52.511 43.734 26472.5600 158,518 55.186

7oty bEf=115 (K. FUJ, 1202 0.)

7

8




PREFER (K. FUJ. 12:000.)

CKA2) meen=1052.000(sd 18.520)msec.  tempo=114.068(sd 2.008) heart rate=114.569(sd 0.183) 3
tchl
5  Heart R.vave | ! || |
4 L.Erec.spina. \asuide o b
3 L.Rect.femor. __A“
2 L.Blce.femor. [ x /\\
1 L.Tibi.anter. / \ A / & \
0 L.Gastrocnem. |
PLECN i ada,
7 Ankle Joint \ \
6 Force plate L
0 100 200 300 400 500 600 700 800 900
[ kA2 12:02. m ) E.M.G data L.Erec.spina. (eyel 1052.000 msec) [ xA2 12:02. m ) E.M.G data L.Tibi.anter. (cycl 1052.000 msec)
|
from 393 to 494 from 393 to 494 |
from 494 to 595 from 494 to 595
|
|
from 595 to 695 from 595 to 695 ’ 1
i i
from 695 to 898 from 695 to 898 ‘ i
| |
| |
L w i E
) 83 167 250 333 a7 () 3 63 167 250 333 a7 (mv)
total meen sd total meen sd
4533,170 44.443 53,337 22948,400 224.984 62,091
21763.700 213.370 90,460 17768.000 174,196 46,642
6611.,730 65.463 27.490 11382.800 112.701 61.078
4502880 22.073 9.996 10158.000 49.794 48.944
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T00 FAST (K. FUJ, 1202 1)

[KA3) meen= 481.333(sd 2.082)msec.  tempo=249.307(sd 1.078) heart rate= 92.664 €3
tchl
5 Heart R.vave
4 L.Erec.spina.
3 L.Rect.femor.
e
2 L.Bice.femor.
1 L.Tibi.anter. 5 Aaad P Adi oo,
0 L.Gastrocnem. /\\ /\
e _ &_._#—/— b—
7 Ankle Joint
6 Force plate I~
r— \\_____—/
0 100 200 300 400 500 600 700 800 900 ;
[ KA3 12:02. m ) E.M.G data L.Erec.spina (cycl 481.333 msec) [ KA3 12:02. m ) E.M.G data L.Tibi.anter. (cycl 48B1.333 msec)
from 442 to 500 from 442 to 500 L,
from 500 to 665 from 500 to 665
==
from 665 to 829 from 665 to 829
from 829 to 943 FE“ from 829 to 943
i
o 83 167 250 333 417 (mv) o 83 167 250 333 417 (mv)
total meen sd total meen sd
2372.090 40.205 15.645 4174,380 70,752 19.971
6493,270 39,116 18.149 16237.900 97.818 57.605
5519,000 33,449 12.629 74424000 451,055 266.467
3786.550 32.927 12.036 25482.400 221.586 148.476
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T00 SLOW (K. FUJ. 1200 n.)

KA4D meen=1400.670(sd 12.097)msec.  tempo= 85.674(sd 0.740) heart rate=107.692(sd 4.275) 3
Cchl
5 Heart R.vave | [l | |
4 L.Erec.spina. . Lt
3 L.Rect.femor. e b hh. anandh bbb,
2 L.Bice.femor.
1 L.Tibi.anter. ey
0 L.Gastrocnem. [
i, i
7 Ankle Joint /
6  Force plate
) 100 200 300 [ 500 600 700 800 900
[ kA4 12:02. m ) E.M.G data L.Erec.spina. (cycl 1400.670 msec) [ kA4 12:02. m ) E.M.G data L.Tibi.anter. (cycl 1400.670 msec)
from 437 to 508 from 437 to 508
.
from SO8 to 647 from 508 to 647
from 647 to 785 from 647 to 785
trom 785 to 928 [—E— | from 785 to 928 T |
| |
; ;‘
o 83 167 250 333 417 (mv) o 83 167 250 223 417 (mv)
total meen sd total meen sd
4205.560 58.411 40.871 23720.900 329,458 98,527
25964.500 185.461 66,061 15793.800 112,814 54,199
20597.400 148.183 101.451 20205400 145.363 50.879
6824.520 47.393 18.889 11918.600 82,768 50.302
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Ay v=115 (K, FUJ. 1200 .)

[kB11 meen=1040.830(sd 5.774)msec.  tempo=115.292(sd 0.640) heart rate=103.040(sd 2.228) 3

Cchl

7 Tempo signal |||

5 Heart R.vave [

4 L.Erec.spina. 43 A

2 L.Rect.femor.
RPN T

3 L.Blce.femor.

PN R
1 L.Tibl.anter. / \ .‘ A.[ \ ¥
\ ettt \ ~

0
6 Force plate ’ NS / ‘
0 100 200 300 400 500 600 700 800 900
[ kel 12:02. m ) E.M.G data L.Erec.anter. (cycl 1040.830 msec) [ KBl 12:02.m ) E.M.G data L.Tibi.antetr. (cycl 1040.830 msec)

from 413 to 500 from 413 to 500

from 500 to 614

from 500 to 614

from 614 to 728
from 614 to 728

from 728 to 909 [ from 728 to 909 [t

o 83 167 250 333 417 (mv) o 83 167 250 333 417 (mv)
total meen sd total meen sd
5256.700 59.735 40.100 15857.600 180.200 15,229
24996.600 217,361 70.030 17097.900 148.678 69.920
11418,700 99.294 43,133 9041.410 78.621 48.751
11958.000 65.703 28.074 9473.520 52.052 43,992
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77ty EH=120 (C. MUR. 10:00. 1)

tnera meen= 832.667(sd 5.132)msec.  tempo=144.115(sd 0.888) heart rate=110.294(sd 1.290) €3
Cchl
6 Tempo signal | !
5 Heart R.vave ] n | ]
3 L.Erec.spina. l = P
2 Lonaner. [ ]| I
A A e . vadd
4 L.Gastrocnem.
0 R.Erec.spina. TN — - =
1 R.Tibi.anter. / \ ‘/ . 2
et
7 Force plate j
0 100 200 300 [] 500 600 700 800 900
{ MC7 10:10. m ) E.M.G data L.Tibi.anter. (cycl 832.667 msec) [ Mc7 10:10. m ) E.M.G data L.Tibi.anter. (cycl 832.667 msec)
I
from 873 tol000 } from 365 to 443 1
a— |
from 71 to 105 | from 443 to 530 | [
: | !
i ! |
from 105 to 209 | ! from 530 to 618 | | |
e - |
, 1 bl |
trom 209 to 365 ——————r1] tron 618 to 873 ; ‘ {
] i |
; ‘ ; ‘ |
o 83 167 250 333 417 (mv) 83 167 250 333 47 (mv)
total meen sd total meen sd
8976.220 70.127 43.829 10483.200 132.699 44.735
18301.900 174.304 97.740 15473.900 176.840 57.762
10659.300 101.517 58.840 10820.000 121.573 52,923
19115.900 121.757 46.458 21759.400 84.998 49.971
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PREFER (C.MUR. 10:10. n.)

heart rate=102.696(sd

0.920) 3

tMesd meen= 852.667(sd 10.214)msec.  tempo=140.735(sd 1.686)
tchl
6 Tempo sisnal |
5 Heart R.vave I [ I | I
3 L.Erec.spina. adba
2 L.Tibi.anter. Jﬁ/f\_
e e Al
4 L.Gastrocnem. \
1 R.Erec.spina. ..K \ e Moo
0 R.Tibl.anter. f\_ \\\ Zﬁ \\\
1Y \Y
7  Force plate
0 100 200 300 400 500 600 700 800 900
( mce 10:10. m ) E.M.G data L.Erec.spina. (cycl 852.667 msec) [ MC6 10:10.m ) E.M.G data L.Tibi.anter. (cycl 852.667 msec)
from 389 to 492 from 389 to 492
from 492 to 599 from 492 to 599
from 599 to 705 from 599 to 705 |
from 708 to 902 —BH | from 705 to 902 [—F"
L |
o a3 Ter 750 == ) 0 83 167 250 333 a7 ()
total neen sd total meen sd
13242.700 127.334 84.974 9619.820 92.498 34.443
19387.500 179,514 95.499 17465.000 161,713 65.607
3438.590 32,136 8.175 4839,720 45,231 16.527
5539.290 27.976 7.036 9270.600 46.821 13.417

84



PREFER (M. SAW. 10:10. f.)

£sck) meen= 880.667(sd 21.127)msec.  tempo=136.260(sd 3.269) heart rate=132.377(sd 1.383) t 3
tend
6 Tempo signal el | [EE
L e
3 L.Erec.spina. A
2 L.Tibl.anter. // / \
4 L.Gastrocnem. / / \

adkaasila 2
1 R.Erec.spina. \ = / \
0 R.Tibl.anter. \_ s / \
7 Force plate
0 100 200 300 A7) 500 600 700 800 500
[ sca =10:10. f ) E.M.G data L.Erec.spina. (cycl B880.667 msec) [ sca 10:10. f ) M0 tata i LTI blrarter s (oLt 8ecTas7AnERa)
.
from 401 to 493 oF, from 401 to 493 -
from 493 to 597 from 493 to 597
e

from 597 to 701 from 597 to 701

= ! ol
|
from 701 to 901 [—F=— | from 701 to 901
!
° 63 167 250 333 a7 (mv) 13 o3 167 250 333 a7 ()
total meen sd total meen sd
6297.270 67.713 41,527 8705.340 93.606 21,383
10563.400 100.604 41.382 11820.000 112,571 30.507
3643.310 34.698 10.221 8371.890 79.732 30.851
9952,280 49.514 17.940 19958.900 99.298 48.234
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AT UE=120 (M, SAW, 10:00. £.)

£sc1l meen=1022.000(sd 35.384)msec.  tempo=117.417(sd 4,065) heart rate=127.416(sd 1.341) (%33
Cchl
6 Tempo signal | | || |
5  Heart R.vave | | |
3 L.Erec.spina. g,
2 L.Tibl.anter. \\ /
PR R
4 L.Gastrocnem.
whnae. vy
\ \ |
1 R.Erec.spina. s )
0 R.Tibl.anter. /'/ 4 A/.‘.. \
7 Force plate
0 100 200 300 400 500 600 700 800 900
[ sc1 10:10. f ) E.M.G data L.Erec.spina. (cycl 1022.000 msec) [ sc1 10:10. f ) E.M.G data L.Tibi.anter. (cycl 1022.000 msec)
from 405 to 498 from 405 to 498
from 498 to 605 from 498 to 605
Y
from 605 to 711 = from 605 to 711
| ! |
from 711 to 904 f—— | | from 711 to 904 F— |
e |
o 83 167 250 333 417 (mv) o a3 167 250 333 417 (mv)
total meen sd total meen sd
6019.450 64.037 19.658 11132,900 118.435 52,599
14154.900 131.064 40.181 19308400 178.781 74.899
5413.590 50.594 19.076 11554.,100 107.983 45,668
10312.900 53.159 15.346 19292.800 99,447 23,584
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PREFER (T. TAN, 107 n.)

£7c21 meen= 769.333(sd 26.764)msec.  tempo=155.979(sd 5.426) heart rate= 90.978(sd 5.979) €3

Cchl

6 Tempo slgnal | | /N |

Sapgrie EREY RS 1\ Ll
it \ i

N e i R N
i

w

n

-~

L.Gastrocnem.

R.Erec.spina.

X

<
4
P
1
b
i

R.Tib).anter.
7  Force plate /
o 100 200 300 400 500 600 700 800 900
(72 11:07. m ) E.M.G data L.Erec.spina. (cycl 871.000 msec) [ TC2 11:07. m ) E.M.G data L.Tibi.anter. (cycl 871.000 msec)
[ ! [
from 432 to 513 | J from 432 to 513 -
|
from 513 to 651 | | from 513 to 651
=— | |
| !
from 651 to 788 ! ! from 651 to 788
i
from 7€8 to 929 |—FI— l from 788 to 929 T
i |
0 83 167 250 333 a7 () o 83 167 250 333 a7 ()
total meen sd total meen sd
4663.080 56.867 20,126 8056.930 98.255 22,978
13349.500 96.040 32,799 20682.300 148.794 108.814
g 7861.920 56.970 20,971 14817.100 107.370 41,038
5464.620 38.483 16.073 11813.000 83.190 29.323
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PREFER (T.EJI.10:10 1)

€ EC2 10:11 m ) meen= B45.333(sd 48.604)msec.  tempo=141.956(sd 8.162) heart rate=119.704(sd 4.105) (355
tehd
5 Tempo signal | | | |
4 Heart R.vave I | l | |
3 L.Erec.spina. /\
2 L.Tibi.anter. H
I .ﬂ/ - ———
1 R.Erec.spina. L 1/
0 R.Tibl.anter. / /
o o~ AL -
6 Force plate lJ
el
0 100 200 300 %00 500 600 700 800 500
[ EC2 10:11. m ] E.M.G data L.Erec.spina. (cycl 845.333 msec) [ EC2 10:11.m ) E.M.G data L.Tibi.anter. (cycl 845.333 msec)
I
from 431 to 490 ’_‘ from 431 to 490
from 490 to 636 from 490 to 636 }
from 636 to 781 from 636 to 761 '
from 781 to 927 from 781 to 927 =— |
i |
i |
J B3 167 250 333 417 (mv) ° 83 167 250 333 417 (mv)
total meen sd total meen sd
5022.800 83.713 26.177 3153.530 52,569 19.030
17232.700 117.230 52.741 24185.600 164.528 90.298
3648.580 24.990 16.136 19131.800 131.039 74.080
3924.830 26.700 13.151 19816.500 134.806 28.386
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PREFER (M. SAN, 1:(8. f.)

tzc2) meen= 921.000(sd 16.523)msec. tempo=130.293(sd 2.337) heart rate=108.892(sd 2.638) L3
Cchl
6 Tempo slgnal | | | |
5  Heart R.vave ] | |
3 L.Erec.spina.
2 L.Tibl.anter.
4 L.Gastrocnem.

. WO O ORGSR e " VRl oy
1 R.Erec.spina. Aasiuiabid.
0 R.Tibi.anter. [ /\/ \
7 Force plate /J‘} __,_// ‘—l
D — s R
0 100 200 300 400 500 600 700 800 900
C2c2 7:08. f ) €.M.G data L.Erec.spina. (cycl 921.000 msec) [ 262 7:08. f ] E.M.G data L.Tibi.anter. (cycl 921.000 msec)

I T
from 447 to 505 i |
T ] | —
| |
from 505 to 660 | from 505 to 660 — i
1 |
| i
o from 660 to B15 |
from 660 to B15 | 1

from 815 to 938 [—E—t—

from 815 to 938 [—E

o % Tey 25 rTT] TTTREICRY) o o3 167 250 333 a7 ()
total meen sd total meen sd
3643,770 61,759 29,339 3550.220 60.173 25,999
17549.600 112.497 38.109 14028.000 89,923 28.549
4348.900 27.878 11.854 6697.120 42.930 20,882
4844.690 39.070 15,754 7412.,400 59,717 36,077
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AfTvR=120 (M. SAN,

rzc1l meen=1017.670(sd 42.218)msec.  tempo=117.917(sd 4.892) heart rate=121.951(sd 1.702) €3
Cchl
6 Tempo signal | 1] | L
5 Heart R.vave l [
3 L.Erec.spina.
2 L.Tibl.anter.
4 L.Gastrocnenm.

e s waalaa s bhit, sl
1 R.Erec.spina.
0 R.TIBI. 3 /V/ =
ibl.anter /\ X / A
7 Force plate /
g sl
0 100 200 300 400 500 600 700 800 900
[gr{2} 7:08. f ) E.M.G data L.Erec.spina. (eycl 1017.670 msec) L 7:08. f ] E.M.G data L.Tibi.anter. (cycl 1017.670 msec)

from 451 to 490 from ast to 490 |

from 490 to 681 trom 490 to 681 [

from 681 to 871

trom é81 to 871 | e —— 1 Y
trom 871 to 957 2 from 871 to 957 [—E—
o 83 167 250 333 a7 () o [ 167 250 333 47 (nv)
total meen sd total meen sd
1522.770 38.069 13.327 2199.200 54.980 21.418
15112.400 78.710 30.665 12436.700 64.775 26.332
6747.740 35.329 37.485 13096.200 68.567 37.987
1638.000 18.828 8.738 4366.160 50.186 19.905
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PREFER (Y, TAK, &00.1.)

tYcs) meen= 748.333(sd 29.263)msec.  tempo=160.356(sd 6.271) heart rate=110,667(sd 4,552) €3
tehi
6 Tempo signal I
5 Heart R.vave l

3 L.Erec.splina.

2 L.Tibl.anter. L
e
4 L.Gastrocnem.
) hh vy
FN PP SRR

1 R.Erec.spina.

0 R.Tiblanter. |/ z:’ﬁr
7 Force plate \/ f/\/

0 100 200 300 400 500 600 700 800 900

[ vcs 8:00m ) E.M.G data L.Erec.spina. (cycl 748.333 msec) [ YC4 8:00 m ] E.M.G data L.Tibi.anter. (cycl 748.333 msec)

from 423 to 485
=1 —

from 485 to 663

from 485 to 663

from 423 to 485
from 663 to 81Q
|

from 663 to 810 T
from 810 to 937 [ from 810 to 937 f—F——
o 83 167 250 333 a7 () ° (5 167 250 333 a7 ()
total meen sd total meen sd
2080.630 33.026 12.425 824,480 60.706 17.712
19035.900 106.346 78.375 21063.800 117.675 70.837
3480.140 23.515 9.436 8540,910 57.709 36,100
4173.820 32.608 14.161 9445.140 73.790 24.845



ASFvHE=140 (Y. TAK, &00.1.)

tyesl meen= 849.333(sd 11.846)msec.  tempo=141.287(sd 1.971) heart rate=125.786(sd 1.726) €3
teh
6 Tempo signal I1] |
5 Heart R.vave | l |
3 L.Erec.spina. e prev oy
s e e
2 L.Tibl.anter.
P .

4 L.Gastrocnem. | A‘_‘ R I
R.Erec.spina. \ A \
Bihie AR - hakae . Wi ol

0
7 sickspiets oY) 1
0 100 200 300 400 500 600 700 800 900
[ ves 8:00. m) E.M.G data L.Erec.spina. (cycl 849.333 msec) [ YCS  8:00. m ) E.M.G data L.Tibi.anter. (cycl 849.333 msec)
from 411 to 505 from 411 to 505 - 1 ‘
|
from 505 to 616 from 505 to 616 | |
I J
trom 616 to 727 tromer6 o7z | | i |
|
|
from 727 to 909 [—E—— from 727 to 909 :EI—‘ | | |
! | |
| | | 1
0 83 167 250 333 417 (nv) o 83 167 250 333 a7 ()
total meen sd total meen sd
7913.400 83.299 56.242 9162.550 96.448 23.563
28270.800 252.418 172,004 14814.400 132.271 67.511
9949.380 88.834 54.758 6476.820 57.829 23.854
11162.000 60.994 41.334 14233.900 77.781 28.101
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JUBD (N FUK. 8:00.1.)

tFc1) meen=1000.000 msec. heart rate=117.417 tn
tehd
6 Tempo signal
5 Heart R.vave |
3 L.E . . . st
rec.spina Aa ", P - st
2 L.Tibl.anter.
s ladsibe di Ble o achbiban | abihiice At Al e
4 L.Gastrocnem.
- Scailiih .o
1 R.Erec.spina. e -
0 R.Tibl.anter. i G MLV/A\/\J}...A b 4
7 Force plate
0 100 260 300 [ 560 600 7 800 500

[ FCL  8:00. m ) EMG data from 402 to 502( 100.000 msec /cycl 1000.000 msec)

3 L.Erec.spina.
2 L.Tibi.anter.
4 L.Gastrocnem.
=
1 R.Erec.spina.
=
0 R.Tibi.anter.
o 83 167 250 333 417 (nv)
ch total meen sd
3 6803.140 67.358 58.547
2 38131.800 377.543 146.018
4 7784.670 71.076 26.988
1 4894.180 48.457 24.872
0 11748.600 116.323 54.718

1

93

FCI  8:00. m

L.Erec.spina.

L.Tibi.anter.

L.Gastrocnem.

bl

EMG data from 502 to

602( 100.000 msec /cycl 1000.000 msec)

R.Erec.spina.

R.Tibi.anter.

ormanew

83
total

19418.800

13623.400
23044.800

meen

192.265
278.138
309.544
134,885
228.166

323 a17

118.570

(mv)




=30l )

(G Fase A ) R Y R

o mkg)
EHEOEHM et She

1
Ese | waw

iopsoas . . . . | 43 100 | 143 | . temoraliy

M. tensor fasciae

sartorius . . . . | 05 43 43 | N. femoralia

rectus femorls . . N. temorally

. gluteus meding

HEHY

. gluteus superior

M. gluteus minimus
WEHE . ...

35 N.gluteus superior

pectineus. . . . | 02 21 29 | N. femoralis
. adductor longus . | 1.4 02 16 | N. obturatorius

. adductor magnus | 1.3 - 1.3 | . obturatorin
M.gracilia . .. .| o1 — 0.1 | . obturatorins
M. obturatorius

exterms . . . .| 07 - 0.7 | . obturatorius
M. adductor brecis . | 0.7 - 0.7 | . obturatorius
M. qualratus feworis | 0.1 — 0.1 | N.glutens injerior
*EBL 123 4He 369




[KA2] meen= 669.000(sd 36.843)msec.  tempo=179.372(sd 9.878) ('] heart rate=110.782(sd 2.637)
Cchl
6 L.Erec.spina.
5 L.Rect.femor.
Sl fidehs
3 L.Bice.femor. \\
2 L.Poten.pedal
4 R.Erec.spina. | P *AA
1 R.Rect.femor.
0 R.Blce.femor.
7 R.Poten.pedal PR, S
fees e ]
0 100 200 300 %00 500 600 700 800 900
€ KA2 12:02. m ] EMG data from 375 to 500( B83.625 msec / cycl 669.000 msec) [ KA2 12:02. m ) EMG data from 500 to 625( 83.625 msec / cycl 669.000 msec)
5 L.Erec.spina. e 5 L.Erec.splina. L4
3 L.Rect.femor. 3 L.Rect.femor. —F=}—
4 R.Erec.spina. == 4 R.Erec.splna. =
1 R.Rect.femor. 1 R.Rect.femor.
0 42 83 125 167 208 (mv) 0 42 a3 125 167 208 (mv)
ch total meen sd ch total meen sd
5 13966.900 110.761 20.088 5 10134.600 80.433 18.048
3 6691.260 52.312 24.253 3 3272.140 25.969 10.434
4 9544.010 75.746 21.383 4 4294.290 34.082 11.496
1 13704.700 108.768 24.309 1 12481.700 99.062 18.342

A7 vH=180

(K. FUJ. 12:00. 0.)
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AT vk=120 (K, FUJ, 1200 1.)

KF2) meen= 993.625(sd 31.478)msec.  tempo=120.770(sd 3.826) 8l heart rates 97.970(sd 3.541)
teh
6 L.Erec.spina. |y oA [ i
5 L.Rect.femor.
it A,
3 L.Bice.femor. | /
2 L.Poten.pedal sl i) __,//
——
4 R.Erec.spina. o A P S
1 R.Rect.femor. h.' : o b
0 R.Bice.femor. / \\
— .
7 R.Poten.pedal e =] \\_
—
0 100 200 300 %00 500 600 700 800 900
€ KF2 12:02. m ) EMG data from 375 to 500( 124.203 msec / cycl 993,625 msec) € KF2 12:02. m ) EMG data from 500 to 625( 124.203 msec / cycl 993.625 msec)
5 L.Erec.spina. ey 5 L.Erec.spina. = |
3 L.Rect.fenor. 3 L.Rect.femor. =
4 R.Erec.spina. e 4 R.Erec.spina.
1 R-Rect.femor. [—p=—x—xy L 1 R.Rect.femor.
0 42 83 125 167 208 (mv) 0 42 83 125 167 208 (mv)
o total i r ch total meen sd
5 9442.920 74.944 173928 5 8714.220 69.161 15.195
3 9416.600 RysE k77 3 7611.200 60.406 15.330
4 15476.800 122.832 29,166 4 7418580, 58.878 12.122
1 S e i 1 24072.700 191.053 43.046
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BR7UH=150 (C. MUR, 10:00. 1)

[MA9] meen= 789.000(sd 12.124)msec. tempo=152.091(sd 2.337) L3 haert rate=106.053(sd 0.749)

Cchl

7  Tempo signal IH | ]

4 Heart R.vave l I l |

5 L.Erec.spina, i oo |

b5 |
2 L.Rect.femor.
aadh % _.A.‘

6 L.Poten.pedal L

e |

1 R.Erec.spina. - v~ L, A

o

0 R.Rect.femor. / AM-UAWMM
~

I———

o
5 R.Poten.pedal f————r—r]
0 100 200 300 400 500 600 700 800 900
[ MA9 10:10. m ) EMG data from 381 to 508( 100.203 msec / cycl 789.000 msec) € MA9 10:10. m ] EMG data from 508 to 631( 97.047 msec / cycl 789.000 msec)
3 L.Erec.spina. 3 L.Erec.spina,
2 L.Rect.femor. 2 L.Rect.femor. = 4
1 R.Erec.spina. 1 R.Erec.splna.
0 R.Rect.femor. [F=5— 0 R.Rect.femor.
0 42 83 125 167 208 (mv) 0 42 83 125 167 208 (mv)
ch total meen sd ch total meen sd
3 8828.710 70.069 27.890 3 6833.060 46.294 19.342
2 16134.900 128,056 69.874 2 3777.180 29.978 24.405
1 24840.400 197.146 75.207 L 5967.640 25.278
0

47.362
1681.140 13.342 7.353 97 12648.200 100.383 47.052



[MAB] meen= 895.875(sd 57.165)msec.  tempo=133.947(sd 8.547) L8 heart rate= 95.815(sd 1.530)
Cchl
7 Tempo stsnal | | | ] e | | |
4 Heart R.vave I | " ] ]I | I
6 L.Poten.pedal
I
i it bnsnttntin R,
3 L.Erec.spina. e r/
2 L.Rect.femor. o /
> __//
\— o
Laiiabogioletn!
1 R.Erec.spina. e R e
| R R R P
0 R.Rect.femor. \\ .ldl
5 R.Poten.pedal | M
1l
0 100 200 300 400 500 600 700 800 900
C MAB 10:10. m ) EMG data from 385 to 513( 114.672 msec / cycl 895.875 msec) C MAB 10:10. m ] EMG data from 513 to 635( 109.297 msec / cyel 895.875 msec)
3 L.Efec.splna. - 3 L.Erec.spina. o)
2 L.Rect.femor. 2 L.Rect.femor. ——
1 R.Erec.spina. 1 R.Erec.spina. [
0 R.Rect.femor. [~ 0 R.Rect.femor. [—F=—— {4
0 42 83 125 167 208 (mv) 1 42 83 125 167 208 (mv)
ch total meen sd ch total meen sd
3 8968.300 69.444 20.344 3 4886.660 39.729 11.644
2 11208.400 86.887 21.730 2 3104.750 26.242 13.363
1 20398.700 168.130 67.890 1 2668.330 20.881 6.672
o 1114.080 8.636 1.729 0 3802.620 30.915 18.679

#B7vA=120 (C, MUR, 10:10. n.)
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BRFuR=120 (M, SAW. 100, £.)

[(SAS] meen=1163.000(sd 18.520)msec. tempo=103.181(sd 1.643) £33 heart rate=106.446(sd 3.208)
Cchd
7 Tempo signal | l
4 Heart R.vave | I I I l |
3 L.Erec.spina. o 5 =)
2 L.Rect.femor. i
e ahh
6 L.Poten.pedal - —]
1 R.Erec.spina. A
T T
0 R.Rect.femor. / w. .‘
PRy Ak oy
5 R.Poten.pedal
0 100 200 300 400 500 600 700 800 900
€ SAS 10:10. f 1 EMG data from 375 to 500¢ 145.375 msec / cycl 1163.000 msec) € SAS 10:10. f ) EMG data from 500 to 625( 145.375 msec / cycl 1163.000 msec)
3 L.Erec.spina. [—H 3 L.Erec.spine. —E=
2 L.Rect.femor. 2 L.Rect.femor.
1 R.Erec.spina. ——F==1— 1 R.Erec.spina.
0 R.Rect.femor. 0 R.Rect.femor.
0 42 83 125 167 208 (mv) 0 42 83 125 167 208 (mv)
ch total meen sd ch total meen sd
3 1834.880 14.563 4.742 3 3642.850 28.912 13.648
2 14816.800 117.694 42.440 2 14493.200 115.025 50.137
1 4620.920 36.674 16.948 1 3954.760 31.987 13.110
0 5600.350 .65 20.111 0 13029. 400 103.408 23.496




Fi7 4=

60 (T, TAN, 11:07. n.)

[TA2) meen=2041.000(sd Jmsec. tempo= 58.795 t13 heart rate=101.721(sd 0.517)
Cchl
7 Tempo signal |
4 Heart R.vave | [
6 L.Poten.pedal
oy o~ e |
3 L.Erec.spina. \
2 L.Rect.femor. e Y
| —
1 R.Erec.spina.
ah i, A e iy
0 R.Rect.femor. / \\\
oA o o
5 R.Poten.pedal / }
0 100 200 300 0 500 600 700 800 900
[ TA2 11:07. m ] EMG data from 353 to 470( 238.797 msec / cycl 2041.000 msec) [ TA2 11:07. m ] EMG data from 470 to 603( 271.453 msec / cycl 2041.000 msec)
T
|
3 L.Erec.spina. 3 L.Erec.spina. —p—— l
2 L.Rect.femor. = 2 L.Rect.femor. | i
i
|
|
1 R.Er 1 R.Erec.spina. = !
|
0 R.Rect.femor. Lg. 0 R.Rect.femor. |
° a2 83 125 167 208 (mv) ° a2 83 125 167 208 (mv)
ch total neen sd ch total meen sd
3 §306.110 44.967 39.114 3 4154.060 31.000 18.976
2 1773,320 15,028 9.414 2 953,600 7.116 2,019
1 8274,480 70,123 54.311 1 6392.890 41.708 16,059
0 782.280 6.629 3.200 0 4952.170 36.957 34.574
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Cc

4

4

4

3

2

FRT A

€3

60 (T.EJI.10:1L n.)

heart rate=131.118(sd 2.004)

CEA2) meen=1904.000(sd218.259)msec.  tempo= 63.025(sd 7.225)
hl
Tempo slgnal | Il | |
Heart R.vave 1 | | | l | |
(I Eveciap il = i s SUN | A o W e
-
L.Rect.femor.
A o 4
L.Poten.pedal B s o EbM SRR Lo ey
R.Erec.spina. s i
— ——
R.Rect.femor. / n ———
R.Poten.pedal o | 1
0 100 200 300 400 500 600 700 800 500
EAZ 10:11. m°) EMG data from 375 to 500( 238.000 msec / cycl 1904.000 msec) C EA2 10:11. m ) EMG data from 500 to 625( 238.000 msec / cycl 1904.000 msec)
L.Erec.spina. —F5 3 L.Erec.spina. ——p3
L.Rect.femor. ——p5 2 L.Rect.femor. [~
R.Erec.spina. f— 1 R.Erec.spina, [——p 1y
R.Rect.femor. F=— 0 R.Rect.femor.
42 a3 125 167 208 (mv) 0 42 83 125 167 208 (mv)
ch total meen sd ch total meen sd
3 3287.520 26,091 10.320 3 3587.920 28.476 6.121
2 3543.920 28,126 8.070 2 1719.710 13.649 3.937
1 5168.590 41.021 9.511 1 4789.800 38.014 10.745
] 2002.130 16.890 11.767 0 6706.160 53.224 24.959



BET

60 (M, SAN. T:08. £.)

(243 meen=2024.000(sd Jmsec.  tempo= 59.289 tn heart rate=124.382(SD 2.581)
tehl
5 Heart R.vave l
3 L.Erec.spina. N DU G G e A - asatullA aa
2 L.Rect.femor. o _‘mm PN PPN A i
4 L.Gastrocnem.
_/ = ™ = a M ..MAL
=
e | =
7 L.Poten.pedal TR
1 R.Erec.spina. huan R ~ 2 M
/
Lo )
0 R.Rect.femor. [ ih AN See o
6 R.Poten.pedal
100 200 300 [ 506 600 700 800 500

[ za3 7:08. f ]

EMG data from 727 to B875( 299.552 msec / cycl 2024.000 msec) [ ZAS 7:08. f ) EMG data from 875 to 1000( 253.000 msec / cycl 2024.000 msec)

|
|
|

3 L.Erec.spina. = 3 L.Erec.spina.

2 L.Rect.femor. = 2 L.Rect.femor. [y

1 R.Er i 1 R.Er i

0 R.Rect.femor. TE=—x [ 0 R.Rect.femor.
o 42 83 125 167 208 (mv) ° 42 83
ch total meen sd ch total
3 2743.180 18.411 16.801 3 6814,850
2 1736.010 11.651 11.607 2 1103.240
1 11354.000 76.201 56.080 1 13317.600
0 5126.670 34.407 26.316 0 2933.530

102

125
meen
54,086

8.756

105.695

23.282

167 208 (mv)



FR7ud= 90 (Y. TAK, 80 1)

[YA3) meen= 788.000(sd 39.345)msec.  tempo=152.284(sd 7.604) (853) heart rate=119.999(sd 5.040)

Cchl

7 Tempo signal | |

4 Heart R.wvave ” |

3 L.Erec.splna.

2 L.Rect.femor.

6 L.Poten.pedal

1 R.Erec.spina. V' N ENP At ttad, aad
e
0 R.Rect.femor. \ g aaduibibibeon o8 Aes sibe s die AR e L 3 i < A
L——_’—_//
5 R.Poten.pedal
0 100 200 300 400 500 600 700 800
L YAS 8:00. m ] EMG data from 375 to 500( 98.500 msec / cycl 788.000 msec) € YA 8:00. m) EMG data from 500 to 625( 98.500 msec / cycl 788.000 msec)
3 L.Erec.splina. 3 L.Erec.spina.
2 L.Rect.femor. 2 L.Rect.femor.
1 R.Erec.spina. 1 R.Erec.spina.
0 R.Rect.femor. 0 R.Rect.femor.
0 42 83 125 167 208 (mv) 0 42 83 125 167 208 (mv)
ch total meen sd ch total meen sd
3 8999.830 71.427 43.609 3 13921400 110.488 35.643
2 17688.900 140,388 87.703 2 6714.170 53.287 52.580
1 7613.750 59.633 25.301 1 5533.930 43.920 26.124
° 12528.800 99,435 40.107 o .

1 03 14348.500 113.877 39.994



LEER

(N. FUK, 8:02.n.)

(FA2) meen=1634,500(sd 33.234)msec. tempo= 73.417(sd 1.493) c2 heart rate=104.469(sd 6.916)
Cech)
5 Heart R.vave | |
3 L.Erec.spina. P VLY WO sda. Ak B 7 T PRLRPTYE N
ot Rasieteneny NUTORER 1T S WA Y sakasn aitihdii
g
4 L.Gastrocnem. \
b A ]
=
7 L.Poten.pedal L=
1 R.Erec.spina. AP o PRl
viRipsct: tenon. LR L ittt b M
L 1
6 R.Poten.pedal I ‘
0 100 200 300 400 500 600 700 800 900
C FAZ 8:02. m ] EMG data from 390 to 520( 212.485 msec / cycl 1634.500 msec) [ FAZ 8:02m ) EMG data from 520 to 640( 196.140 msec / cycl 1634.500 msec)
3 L.Erec.spina, —5— | 3 L.krec.spina. —p—m|
2 L.Rect.femor. 2 L.Rect.fenor.
1 R.Erec.spina. 1 R.Erec.spina.
0 R.Rect.femor. 0 R.Rect.femor.
42 83 125 208 (nv) 0 42 83 125 167 208 (mv)
ch total meen sd ch total meen 5d
3 4092.830 31.243 10.024 3 4607.980 38.083 17.707
2 17716.100 135.237 44.227 2 11010,200 90.993 24.774
1 8001.640 51,080 19.430 1 7637.240 63.118 24.296
0 15324.300 116.980 54,446 0 13740.800 113.660 43.557
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D. X EHMBAHEOHERZFBBRIK

$5{hEH Extensor digitorum

RAAFIR/BES Flexor carpi ulnaris

i JR A LB W Mk
Posterior vinar
recurrent orlery

A .
Motor point

REMIE D ORI
Poslerior interosseus ol
vlnor arlery

L %,

ARB 8 X N ni{'ﬂ‘f-?”)&
Poslerior interosseus ol
radiol nerve
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A7 vf=240

(K. FUJ. 12:02. 0.)

kA7) meen= 484.143(sd 39.452)msec.  tempo=247.861(sd 20.198) (44| heart rate= 78.870(sd 3.666)
Lehd
NSRS
5 Tempo signal | ETER L Il |
4 Heart R.vave | | |
3 L.Ext.digito. iy i
2 L.Flex.car.ul
R

7 L.Grasp.force
1 R.Ext.digito. xhd,
0 R.Flex.car.ul RIS
6 R.Grasp.force

0 100 200 300 400 500 600 700 800 900
[ KA7 12:02. m ] EMG data from 380 to 472( 44.541 msec / cycl 484.143 msec) [ KA7 12:02. m ] EMG data from 473 to 613( 67.780 msec / cycl 484.143 msec)
3 L.Ext.digito. =5— 3 L.Ext.digito. ——p— |
2 L.Flex.car.ul = 2 L.Flex.car.ul —e—g |,
1 R.Ext.digite. 1 R.Ext.dipito.
0 R.Flex.car.ul 0 R.Flex.car.ul

o 100 200 300 400 (mv) o 100 200 300 400 (mv)

ch total meen sd ch total meen sd

3 10117.800 108.794 29.883 3 10300.800 73.055 30.072

2 10043.900 107,999 26.044 2 11211.500 79.515 36.237

1 33748.000 362,882 88.086 1 60456.300 428,768 95.999

0 19655.500 211.350 51.116 ) 33801.800 239.729 41.845
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A7 oH=180

(K. FUJ. 12:02. .)

[KAT7) meen= 675.429(sd 9.378)msec.  tempo=177.665(sd 2.467) 573 heart rate= 77.680(sd 2.252)
Ceh
e LLLLLI LLLL]
4 Heart R.wave l ‘
3 L.Ext.digito. -
2 L.Flex.car.ul e l
7 L.Grasp.force
1 R.Ext.dlglto.
0 R.Flex.car.ul I -2
6 R.Grasp.force | |
0 100 0 300 400 500 600 700 800 900
[ KA7 12:02. m ] EMG data from 316 to 426( 74.297 msec / cycl 675.429 msec) [ kA7 12:02m ] EMG data from 427 to S583( 105.367 msec / cycl 675.429 msec)
i |
3 L.Ext.digito. [—pu 3 L.Ext.digito. [—3— |
I
|
2 L.Flex.car.ul [—py 2 L.Flex.car.ul [ i
|
|
1 R.Ext.digito. 1 R.Ext.digito.
0 R.Flex.car.ul —E=m— 0 R.Flex.car.ul |
|
) 100 200 300 400 (mv) ) 100 300 400 (mv)
ch total meen sd ch total meen sd
3 3678.860 33.143 7,162 3 6179,910 39,363 12.881
2 4201.950 37.855 10,862 2 2669.140 17.001 2.870
1 4119,100 127,199 88,842 1 62075,700 395,386 61,350
0 6326.440 56.995 39.247 0 36461.400 232,239 52.983
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A7 vR=120 (K, FUJ, 1200 1)

[KA6] meen=1010,570(sd 45.033)msec.  tempo=118.745(sd 5.291) (9) heart rates 75.357(sd 3.101)
Cchl
5 Tempo signal | [" | 1] ” |
4 Heart R.vave | | | |
3 L.Ext.dlsito. £ \
2 L.Flex.car.ul /-_—
7 L.Grasp.force
1 R.Ext.dlglto. — \
0 R.Flex.car.ul e T
6 R.Grasp.force
0 100 200 300 400 500 600 700 800 900
[ KAé 12:02. m ] EMG data from 324 to 482( 159.670 msec / cycl1010.570 msec) [ KA6 12:02. m ) EMG data from 483 to S586( 104.089 msec / cycll010.570 msec)
3 L.Ext.digito. [—m 3 L.Ext.digito. —m
2 L.Flex.car.ul [—py 2 L.Flex.car.ul [
1 R.Ext.digito. 1 R.Ext.digito.
0 R.Flex.car.ul P——m L 0 R.Flex.car.ul g
o 100 200 300 400 (mv) o 100 200 300 400 (mv)
ch total meen sd ch total meen sd
3 4124.810 29.716 5.654 3 2904.630 27,929 5.374
2 4525.160 28.460 6.317 2 1886.250 18.137 3.726
1 18288.800 115.024 93.160 1 35368.500 340,081 62,981
0 10743.000 67.566 61.761 0 21038.300 202.292 35.822



[KA9]

meen=2139.000(sd

Imsec.

REME

(K. FUJ, 12:00, 0.)

tempo= 56.101 (43R5 heart rate= 82.745(sd 2.762
fch)
R e o
S Tempo signal |/
4 Heart R.vave |
3 L.Ext.digito, S S SR
2 L.Flex.car.ul ’
7L&mw1mu|
{
1 R.Ext.dislto. ‘I‘H‘mﬂu P WA - -
0 R.Flex.car.ul &
6 R.Grasp.force
0 100 200 300 400 500 600 700 800 900
[ KA9 12:02. m ) EMG data from 363 to 471( 231.012 msec / cycl2139.000 msec) [ KA9 12:02. m ) EMG data from 472 to 580( 231.012 msec / cycl2139.000 msec)
3 L.Ext.digito. 3 L.Ext.digito.
2 L.Flex.car.ul —p— 2
1 R.Ext.digit 1 R.Ext.digito.
0 R.Flex.car.ul =5 0 R.Flex.car.ul | —
L
o 120 240 360 480 (mv) o 120 240 360 480 (mv)
ch total meen ad ch total meen sd
3 18810.900 172.577 113.261 3 16993.800 155,907 15.244
2 7109.900 65.228 29.190 2 4821.180 44,231 17.208
1 9768.600 89.619 103.505 1 59183.600 542,969 257.837
0 5908000 54.202 43.963 [ 22077.400 202.545 75.244
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[MD3] meen= 521.000(sd 21.517)msec.

Cchl

7  Tempo signal

4 Heart R.vave

3 L.Ext.dlgito

2 L.Flex.car.ul

6 L.Grasp.force

1 R.Ext.digito

0 R.Flex.car.ul

5 R.Grasp.force

[ 03 10:10. m )

3 L.Ext.digito.

2 L.Flex.car.ul

1 R.Ext.digito.

0 R.Flex.car.ul

Rfi7v=200 (C., MUR. 10:

tempo=230.326(sd 9.513) €3

0. 1)

heart rate= 95.482(sd

0.779)

110

A a a
N Anda Baabe,
| !
PO A
0 100 200 300 400 500 600 700 800 900
EMG data from 395 to 488( 48.453 msec / cycl 521.000 msec) [ MO3 10:10. m ) EMG data from 489 to 582( 48B.453 msec / cycl 521.000 msec)
= 3 L.Ext.digito. | i
I
- 2 L.Flex.car.ul | |
|
|
|
1 R.Ext.digito. i
1
0 R.Flex.car.ul
13 120 240 360 480 () o 120 240 360 480 )
ch total meen sd ch total meen sd
3 6044.070 64.299 28.562 3 3867.760 41.146 17,314
2 5261.800 55.977 12.137 2 3444.080 36.639 11.080
1 27611.900 293.743 88.978 1 31584.000 336.000 94,940
o 48035.500 511.015 178,354 0 55129,400 586.483 217.022



AfFvE=180 (C, MUR, 10:10. 0.)

021 meen= 612.857(sd 63.125)msec.  tempo=195.804(sd 20.168) tn heart rates 92.639(sd 1.868)
tchl
7 Tempo signal “] | | [ ] | |
4  Heart R.vave ] |
|
3 L.Ext.disito. Sl Dottt
2 L.Flex.car.ul | !
6 L.Grasp.force
1 R.Ext.digito. o
0 R.Flex.car.ul \
S R.Grasp.force e e | S o ey P |
0 100 200 300 400 500 600 700 800 900
[ MD2 10:10. m ] EMG data from 362 to 454( 56.383 msec / cycl 612.857 msec) [ MD2 10:10. m ) EMG data from 455 to 587( 80.897 msec / cycl 612.857 msec)
3 L.Ext.digito. [ 3 L.Ext.digito. [—g
2 L.Flex.car.ul [—p=5 2 L.Flex.car.ul gy
1 R.Ext.digito. 1 R.Ext.digito. LR
0 R.Flex.car.ul 0 R.Flex.car.ul
') 120 240 260 480 (nv) o 120 240 360 480 (mv)
ch total meen sd ch total meen sd
3 4572.880 49.171 17.236 3 4841.820 36.405 11.915
2 4938.200 53.099 21.692 2 2645.290 19.889 8.789
I 24141.200 259.682 76.002 1 45720.000 343.1759 79.223
o 26632.700 286.373 99.178 0 67349.500 506.387 107.756




AT vE=1

20 (C.MUR. 10:10.

M1 meen=1012.570(sd 57.815)msec. tempo=118.510(sd 6.767) tn heart rate= 85.887(sd 3.357)
tehd
7 Tempo signal 1l I ” | |” " I
4 Heart R.vave I I l | [ [ |
3 L.Ext.dlglito. pore
2 L.Flex.car.ul .|.|‘ |'| " : '
6 L.Grasp.force
IR
1 R.Ext.dlsito. 0% iz
' ~
0 R.Flex.car.ul A " \
~
5 R.Grasp.force
0 100 ) 300 400 500 600 700 800 900
[ M1 10:10. m ) EMG data from 389 to 517( 129.609 msec / cycl1012.570 msec) [ MOL 10:10. m ) EMG data from 518 to 620( 103.282 msec / cycl1012.570 msec)
7
3 L.Ext.digito. [—3 3 L.Ext.digito. [—Pu
|
2 L.Flex.car.ul [y 2 L.Flex.car.ul | |
|
|
|
1 R.Ext.digito. 1 R.Ext.digito. |
|
0 R.Flex.car.ul 0 R.Flex.car.ul
‘ | i
o 100 200 300 400 (mv) o 100 200 200 400 (mv)
ch total meen sd ch total meen sd
3 4664.270 36.157 14.326 3 2616.250 25.401 6.923
2 4699.360 36.429 19.750 2 1333.140 12.943 2.978
1 20683.400 160,337 71.201 1 25682.100 249.341 39.469
0 20638.600 159.989 90.231 J 37469.800 363.784 74.696
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T00 FAST(feedback) (M. SAW. 10:00. f.)

tso13 meen=1217.330(sd413.585)msec.  tempo= 98.576(sd 33.491) 3 heart rates 99.640(sd 1.383)
tehd
7 Tempo signal | |
4 Heart R.vave ' l I
3 L.Ext.disito. | 3
2 L.Flex.car.ul
|
6 L.Grasp.force
et A
1 R.Ext.dligito.
0 R.Flex.car.ul e | B
5 R.Grasp.force B
[} 100 ] 00 %00 500 600 706 800 508
[ SOL 10:10. f ) EMG data from 409 to 583( 211.815 msec / cycl1217.330 msec) [ SDI 10:10. f ) EMG data from S84 to 692( 131.472 msec / cycl1217.330 msec)
3 L.Ext.digito. [~ 3 L.Ext.digito. |54
2 L.Flex.car.ul P~ 2 L.Flex.car.ul [
1 R.Ext.digito. 53— 1 R.Ext.digito. [~
0 R.Flex.car.ul [—F5+ o R.Flex.car.ul —F5
o 100 200 300 400 (mv) o 100 200 300 400 (mv)
ch total neen sd o Sy erai -
3 6306.360 36.036 15.545 3 2348.200 21,543 8.855
2 3620.390 20.688 11.905 ] i o iyt
1 7949.340 45.425 14.873 T STer st b ey
0 8136.730 46.496 13.994 : iy L Hal
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% B B W(feedback) (T, TAN, 1:07, 1.)

€T011 meen=2447.000(sd Imsec.  tempo= 49.040 L1 heart rate=100.491(sd 1.795)
tchl
7 Tempo slanal | |
4 Heart R.vave | l
3 Lexdisito. o R = R R
2 L.Flex.car.ul \
e P " > SIS oo, G
6 L.Grasp.force A e T oy I
R RIEY e Ao (Lo ALLL&. A o P Coid - e oa
0 R.Flex.car.ul IR R e A 2R & boi
5 R.Grasp.force
0 100 200 300 %00 500 600 700 800 900
[ 101 EMG data from 356 to 472( 283.852 msec / cycl2447.000 msec) [ TOL 11:07. m ) EMG data from 473 to 589( 283.852 msec / cycl2447.000 msec)
3 L.Ext.digito. = 3 L.Ext.digito. —p— | ;
2 L.Flex.car.ul f— 2 L.Flex.car.ul —p— [
!
1 R.Ext.digito. =y 1 R.Ext.digito. ——p=—1 ‘
0 R.Flex.car.ul 0 R.Flex.car.ul — i
! 1
o 100 200 300 400 (mv) 100 200 300 400 (mv)
ch total meen sd ch total neen sd
3 5837.990 49,897 31,509 3 8525.880 12,871 32,398
2 4011.910 34,290 30.108 2 6531.380 55,824 24.908
1 5631.250 48.130 31.734 1 9923.460 84.816 32.878
0 5807.010 49.633 52.719 0 11410.300 97.524 32.006
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OB B M (feedback) (T, TAN, 10:07. 1)

73] meen=2008.670(sd 59.534)msec.  tempo= 59.741(sd 1.771) 831 heart rate= 95.875(sd
Cehd
7 Tempo signal | | ] |
4 Heart R.vave l = [l I
3 L.Ext.digito. e AR \ s AR
2 L.Flex.car.ul
athalba, dhallh

6 L.Grasp.force CEm =
1 R.Ext.digito. A —-—/\ e dire
0 R.Flek.car.ul ‘ AL yr e
5 R.Grasp.force

0 100 e 00 400 500 600 700 800

(703 11:07. m )

3 L.Ext.digito.

2 L.Flex.car.ul

1 R.Ext.digito.

0 R.Flex.car.ul

EMG data from 375 to

490( 230.997 msec / cycl2008.670 msec)

e

=

=

==

) 100 200 300 400 (mv)
ch total meen sd

3 7943.950 68.482 26.375

2 4937.180 42,562 15.471

1 5099.340 43,960 19.717

0 5086.890 43.853 19.620

€103 11:07. m )

3 L.Ext.digito.

2 L.Flex.car.ul

1 R.Ext.digito.

0 R.Flex.car.ul

115

EMG data from 491 to 606( 230.997 msec / cycl2008.670 msec)

|
e — = ]

o 100 200 300 (mv)
ch total meen

3 13268.800 114,386

2 14953.600 128.910

1 10895.100 93.923

0 18139.200 156.373




LB M(feedback) (T, EJL, 10010 n.)

CED2) meen=1955.000(sd Imsec. tempo= 61.381 il heart rate=118.344(sd 1.054)

Cch)

o Tempo signal

4 Heart R.vave |

3 L.Ext.digito.

. "
2 L.Flex.car.ul
A |5 ]
6 L.Grasp.force 1
1 R.Ext.digito. a
T TSt —

0 R.Flex.car.ul PRy el
5 it o e o7 ool [EERE i I\ | R (TR o2

0 100 200 300 400 500 600 700 800 900
[ ED2 10:11. m } EMG data from 436 to 499( 123.165 msec / cycl1955.000 msec) [ ED2 10:11. m ) EMG data from 500 to 563( 123.165 msec / cycl1955.000 msec)
3 L.Ext.digito. —— 3 L.Ext.digito. [—F
2 L.Flex.car.ul —=— 2 L.Flex.car.ul —p5

|

1 R.Ext.digito. —F5— 1 R.Ext.digito. ——F5— |
0 R.Flex.car.ul —pF———1 0 R.Flex.car.ul F—=5—

o 100 200 300 400 (mv) o 100 200 300 400 (mv)

ch total meen sd ch total neen sd

3 3164.600 49.447 27,561 3 2782.980 43.484 18.662

2 3635.540 56.805 27.554 2 3368.240 52.629 21.468

1 3158.430 49.351 16.770 1 3688.550 57.634 21.594

0 4899.310 76.552 39.585 0 3309.080 51.704 32.983
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F B B M(feedback) (T.EJI.1

0:11 1)

LED3) meen=1514.000(sd Jmsec.  tempo= 79.260 tn heart rate=123.844(sd 0.547)
tchl
7 Tempo signal
4 Heart R.vave ]
35 L.Ext.diglto. ] g i PIRPT CPLIPT
2 L.Flex.car.ul )
B Aando ool . S e T T o |
6 L.Grasp.force /S
1 RUEXE.A191t0. |ndem kb aah e - PP o s
0 R.Flex.car.ul 5 -
L ——r
5 R.Grasp.force
0 100 200 300 400 500 600 700 800 900
[ ED3 10:11. m ) EMG data from 298 to 387( 134.746 msec / cycl1514.000 msec) [ ED3 10:11. m ] EMG data from 388 to 477( 173.995 msec / cycl1955.000 msec)
3 L.Ext.digito. — 3 L.Ext.digito. ——p=x 1
2 L.Flex.car.ul 2 L.Flex.car.ul
i
1 R.Ext.digito. [—F=—m— 1 R.Ext.digito. [—F——ml ’
0 R.Flex.car.ul E==— 0 R.Flex.car.ul ]
|
o 100 200 300 400 (mv) o 100 200 300 400 (mv)
ch total meen sd ch total meen sd
3 8871.150 98.568 58,191 3 7718.520 85.761 36,994
2 10114.500 112.383 64.056 2 10521.400 116.905 45,812
1 4845.290 53.837 35,059 1 8110.330 90.115 49.155
0 4254.950 47.277 32.909 0 8316.190 92.402 67.855
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TOO FAST(feedback)

(M, SAN. 7:08.n.)

£z021 meen=1091.670(sd243.943)msec.  tempo=109.924(sd 24.564) L3 heart rate= 87.110(sd 3.506)
Cchl
7  Tempo signal | | | |
4 Heart R.vave | | '
3 L.Ext.dlgito.
-
2 L.Flex.car.ul T A ﬁ\
B G o IR R AL ot
6 L.Grasp.force
1 R.Ext.dlglito. LS FRWOW-VSV N -
e
0 R.Flex.car.ul | e h
b
S R.Grasp.force b | o g
0 100 200 300 400 500 600 7 800 900
( z02 7:08. f ) EMG data from 365 to 514( 162.659 msec / cycl1091.670 msec) [ 202 7:08. f ) EMG data from 515 to &75( 174.667 msec / cycll091.670 msec)
3 L.Ext.digito. [ 3 L.Ext.digito. [
2 L.Flex.car.ul [gq 2 L.Flex.car.ul |y
1 R.Ext.digito. —F5— 1 R.Ext.digito.
0 R.Flex.car.ul —E=3— 0 R.Flex.car.ul
o 100 200 300 400 (mv) o 100 200 300 400 (mv)
ch total meen sd ch total meen sd
3 2818.680 18.791 8.888 3 2553.580 15.861 5.879
2 2853.770 19.025 7,801 2 1602.000 9.950 2.749
1 7949.110 52.994 20.327 1! 22433.400 139,338 38.945
0 9957.290 66.382 29.682 0 23541.300 146.219 55.481
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% B B H(feedback)

(M, SAN, 7:08. )

tzo1l meen=2241.000(sd 86.017)msec.  tempo= 53.548(sd 2.055) 3 heart rates 90.132(sd 3.540)
Cchl
7 Tempo signal “ “ I
4 Heart R.vave | | I |
3 L.Ext.digito.
~
2 L.Flex.car.ul
sach anch 4
6 L.Grasp.force
1 R.Ext.digito. & PR PR,
0 R.Flex.car.ul 4_..._ e
5 R.Grasp.force
0 100 200 300 400 500 600 i 800 900
[ 201 7:08. f ] EMG data from 311 to 488( 396.657 msec / cycl2241.000 msec) [ 201 7:08. t ] EMG data from 489 to 548( 132.219 msec / cycl2241.000 msec)
3 L.Ext.digito. [P 3 L.Ext.digito. [
2 L.Flex.car.ul [~ 2 L.Flex.car.ul [—&
1 R.Ext.digito. == 1 R.Ext.digito. [
o ReFlexcarul ==y 0 R.Flex.car.ul
o 100 200 300 400 (nv) o 100 200 300 400 (mv)
ch total meen sd ch total meen sd
3 4696.160 26.383 9.382 3 1228.,900 20.482 3.051
2 5272.120 29,619 9.712 2 1697.240 28.287 5.766
1 14034.400 78.845 36.782 1 7897.740 131.629 35.453
0 10084.400 56.654 46.017 0 11077,100 184.618 42.251
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tv03) meen=2175.000(sd Jnsec.  tempos 55.172 (3 5] heart rate= 91.044(sd 5.949)
teh
7 Tempo sisnal
4 Heart R.vave |
3 L.Ext.digito. e ielpepiad
2 L.Flex.car.ul P R R P T B

PO P PPN s
6 L.Grasp.force
1 R.Ext.disito. LA s B
0 R.Flex.car.ul / A
o CHARP R | T
5 R.Grasp.force
0 100 200 350 400 5 600 768 800 500
Y03 8:00. m ] EMG data from 426 to 525( 215.325 msec / cycl2175.000 msec) [ YDZ 8:00. m ) EMG data from 526 to 625( 215.325 msec / cyc12175.000 msec)

% B B (Feedback)

(Y. TAK. &0.1.)

L.Ext.digito. [~

L.Flex.car.ul

R.Ext.digito. ET

o 100 200 300 400
ch total meen sd

3 5612.160 55.122 23.984
2 1939.980 19.400 11.263
1 9018.330 90.183 32.662
0 4823.520 48.235 35.129

(mv)

1 R.Ext.digito.

0 R.Flex.car.ul

3 L.Ext.digito. —F5—

2 L.Flex.car.ul 5

—
0 100 300 400 (mv)
ch total meen ad

3 4575,950 45,760 17.170

2 2159.830 21.598 10.086

1 9749.300 97.493 35.111

0 11453.300 114,533 37.722



meen= 974.667(sd 78.653)msec.  tempo=123.119(sd 9.935) (9% 4] heart rate= 91.116(sd 7.122)
e AN bl i, anacth a M, e e
L

(FD1]

tch)

7 Tempo signal
4 Heart R.vave
3 L.Ext.dlglto.
2 L.Flex.car.ul
6 L.Grasp.force
1 R.Ext.digito.
0 R.Flex.car.ul
5 R.Grasp.force

FO1 8:02. m )

L.Ext.digito.

L.Flex.car.ul

R.Ext.digito.

R.Flex.car.ul

FEEDBACK (N. FUK. 8:02. 1)

—

100

EMG data from 306 to

%00

413( 104.289 msec / cycl 974.667 msec)

=B

=

=

=a

o 100 200 300 400 (mv)
ch total meen sd

3 3193.840 29,573 7.239

2 6563.020 60.769 17.048

1 3100.710 28.710 7.765

0 5778.350 53.503 20,737

3

500

FO1  8:02. m

L.Ext.digito.

L.Flex.car.ul

R.Ext.digito.

R.Flex.car.ul

121

]

EMG data from 414 to S43( 125.732 msec / cycl 974.667 msec)

800

—B=—
—
B~
o 100 200 300 400 (mv)
ch total meen sd
3 6676.580 51.358 14,722
2 12553.900 96.569 34.306
1 4834.500 37.188 9.679
0 13754.500 105.804 35.516
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fi#7v8= 90 (K. FUJ, 1200 0.)

(KB3) meen= 656.667(sd 5.859)msec. tempo= 91.371(sd 0.815) 3] heart rate= 76.615

fch)

S Heart R.wave

4 L.Erec.spina.

2 L.Gastrocnen. domoa o ath Y VT NS PR NP VAW WY T WY

3 L.Tibi.anter. /
PND " R G WL

0 R.Gastrocnem. ;
Y p— bl adh i o oo ey s o o
1 R.Tibi.anter. /
£ " A WY PPN A JT Y e

6 Inclin.angle \__,/

0 100 200 300 400 500 600 700 800 500
[ kB3 12:02. m ) E.M.G data from 1 to S00 [ XkB3 12:02. m ) E.M.G data from 501 to 1000
4 L.Erec.spina. 4 L.Erec.spina.
2 L.Gastrocnen. 2 L.Gastrocnen.
3 L.Tibi.anter.
anter ==t 3 L.Tibi.anter. =
© R.Gastrocnem. 0 R.Gastrocnem. |
= |
1 R.Tibi.anter. 1 R.Tibi.anter.
m—— —0
o 17 34 51 68 (mv) ) 17 34 51 68 (mv)
ch total meen 8d ch total meen sd
4 21072.000 42.144 14.404 4 20115.600 15.311
2 17340.900 34.682 2 10027.800 8.596
3 4621.350 9.243 3 3420.180 2.412
0 9027.480 18.055 0 9208.060 4.816
1 7864.800 15.730 1 7760.970 3.888




(KB1)

lchl

meen= 997.800(sd 14.805)msec.

5 Heart R.wave

4 L.Erec.spina.

2 L.Gastrocnem.

e
3 L.Tibi.anter. l !
Do 4 !
|
0 R.Gastrocnem. |
mathnbOd S0 amdh it oy A odiissdad sodneliibh, . B o0 o Ao Mm w
1 R.Tibi,anter. I //
i ke L A
| |
6 Inclin.angle \_/ 1 [ !
! |
0 100 200 300 400 500 600 7 000 900
[ k81 12:02. m ) E.M.G data from 1 to 500 [ k81 12:02 .m ) E.M.G data from 501 to 1000
I ‘
4 L.Erec.spina. 4 L.Erec.spina. I | “
| |
2 L.Gastrocnem. 2 L.Gastrocnem. | |
(S | |
ibi I !
3 L.Tibi.anter. STibi. .
nter. |, 3 L.Tibi.anter | |
! 3
o R.Gast o i |
astrocnem. ! 0 R.Gastrocnem. | |
1 R.Tibi.anter. 1 R.Tibi.anter. i
e = 2]  —— |
i
| i |
) 17 34 s1 8 (mv) ) 17 34 st ) (mv)
ch total neen sd ch total meen sd
4 26242.500 52.485 12,896 4 26676,300 53.353 13.082
2 12693.100 25,386 8.015 2 16749,900 33.500 10.092
3 4585.480 9.171 3.688 3 5366.400 10.733 6.642
0 10383.000 20.766 4.300 0 11912.000 23,824 5.528
1 6298.610 12.597 2,305 1 7194.320 14,389 3.504

i A

tempo= 60.132(sd

0.882) s

= 60 (K. FUJ, 1200 0)

heart rate= 79.097(sd

1.056)




(KB6)

teh)

5 Heart R.wave

4 L.Erec.spina.

2 L.Gastrocnem.

3 L.Tibi.anter.

0 R.Gastrocnem.

1 R.Tibi.anter.

6 inclin.angle

%7

45 (K, FUJ, 1200 1)

[ KB6 12:02. m ]

4 L.Erec.spina.

2 L.Gastrocnem.

3 L.Tibi.anter.

0 R.Gastrocnem.

1 R.Tibi.anter.

125

meen=1302.830(sd 11.550)msec.  tempo= 46.054(sd 0.409) 3 heart rate= 75.585(sd 2.777)
\ b
&, o ot
A TPURY S o

- PN
Lt g s duiains bt i sradinglh PP it ikt st A BRI oA
v — re ey \ e b ez i yoen
] e
0 100 200 300 400 500 600 d HOO a00
E.M.G data from 1 to 500 [ k86 12:02. m ) E.M.G data from 501 to 1000
I
4 L.Erec.spina.
2 L.Gastrocnem.
3 L.Tibi.anter.
|
0 R.Gastrocnem. \’
i
|
1 R.Tibi.ant {
 e— — ] ey |
o 17 34 51 68 (mv) o 17 34 51 68 (mv)
ch total meen sd ch total meen sd
4 12909.600 25.819 8.845 4 12770.100 25.540 8.395
2 10306.000 20.612 7.072 2 9029,140 18.058 5.618
3 5484.,380 10,969 2.387 3 5747.840 11.496 4.153
[ 9377.760 18.756 5.773 0 10444.900 20.890 7.134
1 6209.000 12.418 2.940 1 6722,890 13.446 L1703



f#7 = 90 (C. MUR.10:0. 1)

(MB6) meen= 655.667(sd 9.609)msec. tempo= 91.510(sd 1.341) 3 heart rate= 94.817(sd 3.063)

tch)

5 Heart R.wave | |

3 L.Erec.spina.

\saha Sufiitn, 4 ro Aok SN IPRY TV IS Asthbin, stndutoiied 2 anthe
2 L.Gastrocnem.

4 L.Tibi.anter.

1 R.Erec.spina. \
Aload e 35 "

0 R.Gastrocnem.

6 Inclin.ansle |

0 100 200 300 400 500 600
[ M86 10:10. m ) E.M.G data from 1 to 500 [ 86 10:10. m ) E.M.G data from 501 to 1000
|
3 L.Erec.spina. 3 L.Erec.spina. |
2 L.Gastrocnem. 2 L.Gastrocnen. | | { |
| 1}
4 L.Tibi.anter. 4 L.Tibi.anter. f !
e i amon
1 R.Erec.spina. 1 R.Erec.spina. | |
— R | | i
0 R.Gastrocnem. 0 R.Gastrocnem. i : |
== |
: T i |
! I i H
o 17 34 st 8 (av) o 17 34 st ) ()
ch total meen sd ch total meen sd
3 8646.200 17.292 7.600 3 9055,300 18.111 5.914
2 4803.670 9.607 1.270 2 5949.660 11.899 4.510
4 1822.840 15.646 0.682 4 1566.680 15.133 1.528
1 11536.200 23.072 14.454 1 6565,200 13.130 7.539
0 2785.960 5.572 12 0 19370.800 38,742 27.600
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(MB6) meen=1009.300(sd 5.461)msec.

[ch)

5 Heart R.wave

3 L.Erec.spina.

~

4 L.Tibi.anter.

R.Erec.spina.

0 R.Gastrocnem,

6 Inclin.angle

L.Gastrocnem.

figF k= 60 (C.MUR, 10:0. n.)

tempo= 59.447(sd

0.322) s

heart rate= 90.626(sd 3.347)

0 100 200 300 400 500 600 7 800 900
[ MB6 10:10. m ) E.M.G data from 1 to 500 [ MB6 10:10. m ] E.M.G data from 501 to 1000
3 L.Er 3 L.Erec.spina.
==
2 L.Gastrocnem. 2 L.Gastrocnem.
4 L.Tibi.anter. 4 L.Tibi.anter. 5
=
1 R.Erec.spina. 1 R.Erec.spina.
0 R.Gastrocnen. 0 R.Gastrocnem.
| |
o 17 34 s1 &8 (mv) 0 17 34 51 68 (mv)
ch total meen sd ch total meen sd
3 9402630 18.805 5.730 3 11715.400 23.431 6.343
2 22583,700 45,167 30,179 2 25673, 600 51,347 21.498
4 9818.,030 19,636 6,296 4 8025,120 16.050 2.645
1 11265.000 22,630 7,916 1 12291600 24,583 7,537
0 16972.700 31.946 18,471 0 14771900 29,544 13,685
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(sB3) meen= 651.667(sd

fch)

5 Heart R.wave

3 L.Erec.spina.

2 L.Gastrocnem.

4 L.Tibi.anter,

1 R.Erec.spina.

1.528)msec. tempo=

8T vE= 90 (M, SAW, 10:00. f.)

92.072(sd 0.216) 3

heart rate= 78,993(sd

0.610)

=

DI st S
AR, \

Q.E.A

]
]
;
|
I
e o

Y ey
0 R.Gastrocnem.
s
6 Inclin.angle
100 200
[ s83 10:10. f ) E.M.G data from 1 [ s83 10:10. f ) E.M.G data from 501 to 1000
3 L.Erec.spina. 3 L.Erec.spina.
2 L.Gastrocnem. 2 L.Gastrocnem.
4 LTivianter. L | 4 L.Tibi.anter.
|
| |
H
1 R.Erec.spina. 1 R.Erec.spina. |
Jo s ;
|
0 R.Gastrocnen. 0 R.Gastrocnem. i
=l ]
o 17 34 st 8 (mv) ) 17 34 s1 8 (mv)
ch total meen ad ah Aot LR o
3 11918.600 23.037 -076 3 14305.800 28.612 10.547
2 7208.360 14,417 21.289 2 24935.900 49.872 38.784
4 7186800 14.374 3.939 7 9171070 18,342 5.116
1 12623.000 25,248 <048 1 16069.300 32.139 10.638
o §768.520 11,537 95752 0 15985.600 31.971 24.128
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(SB2) meen=1013,670(sd

tch)

5§  Heart R.wave

3 L.Ersc.spina.

2 L.Gastrocnem.

4 L.Tibi.anter.

1 R.Erec.spina.

8.963)msec.

tempo= 59.191(sd

LR

60 (M, SAW,10:10. £.)

0.523) 3

heart rate= 80.485(sd 2.338)

ol

l‘“‘.

|
bl

PP |

cba dodabanlh o Prowy i
0 R.Gastrocnem. \ ] | | \
A b <
~
6 Inclin.angle \__‘__/] l i ‘
0 100 200 300 400 500 600 700 800 900
[ s82 10:10. f ) E.M.G data from 1 to 500 [ s82 10:10. t ) E.M.G data from 501 to 1000
I

3 L.trec.spina. 3 L.Erec.spina.

2 L.Gastrocnem. 2 L.Gastrocner

4 L.Tibi.anter. 4 L.Tibi.anter.

=)

1 R.Erec.spina. 1 R.Erec.spina.

—

0 R.Gastrocnem. © R.Gastrocnen. |
o 17 34 B 8 () o 17 34 51 ) TH)
ch total meen sd ch total meen ad
3 17670.000 36.340 12.788 3 30209700 60.419 8.544
2 8691.180 17.382 17.680 2 24272.,600 48.545 37.640
4 10428.500 20,857 11.291 4 8513.440 17.027 1556
1 11405.000 22,810 6.709 1 15732,900 31.466 8.140
0 8086.770 16.174 16.138 0 18238000 36,476 22,547
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fi#FvH= 60 (T, TAN, 1100, 1)

(183) meen=1002.330(sd 54.501)msec. tempo= 59.860(sd 3.255) 3 heart rate= 83.104(sd 2.033)

teh)

5 Heart R.wave

3 L.Erec.spina.

2 L.Gastrocnem.

4 L.Tibi.anter.

e

1 R.Erec.spina.

0 R.Gastrocnem.

6 Inclin.angle

0 200 300 400 500 600 700 000 900
(183 11:07. m ] E.M.G data from 1 to 500 [ 183 11:07. m ) E.M.G data from SOl to 1000

|
3 L.Erec.spina. 3 L.Erec.spina. ‘
|
2 L.Gastrocnen. 2 L.Gastrocnem. r
4 L.Tibi.anter. 4 L.Tibi.anter. il |
i
|
1 R.Erec.spina. 1 R.Erec.spina. |
|
0 R.Gastrocnen. 0 R.Gastrocnem. |
|
|

o 17 34 51 68 (mv) ) 17 34 51 68 (mv)

ch total meen ad ch total meen sd

3 13408,400 26.817 12.207 3 9784.000 19.568 4.510
2 9324.620 18.649 16.365 2 15187.200 30,374 18.783
4 24800,700 49.601 36.502 L) 10368.400 20.717 6.795
1 14508.800 29.018 11.490 1 20981.700 41.964 12.491
0 7413.180 14.826 11.612 0 29841.200 59.682 40.790
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(EB2) meen= 668.500(sd 59.387)msec.

fch)

5  Heart R.wave

3 L.Erec.spina.

2 L.Gastrocnem.

4 L.Tibi.anter.

1 R.Erec.spina.

0 R.Gastrocnam.

6 Inclin.angle

tempo=

fifi7vk= 90 (T, EJI, 101 0.)

89.753(sd

7.973) 3

heart rate=110.965(sd

2.144)

[ EB2 10:11. m ]

3 L.Erec.spina.

2 L.Gastrocnenm.

4 L.Tibi.anter.

1 R.Erec.spina.

0 R.Gastrocnenm.

0 100 200 300 400 500 600 700 800 900
E.M.G data from 1 to 500 [ EB2 10:11. m) E.M.G data from 501 to 1000
T -
3 L.Erec.spina. | |
2 L.Gastrocnem.
m—— ]
4 L.Tibi.anter.
=
1 R.Erec.spina. \
0 R.Gastrocnen. |
o 17 34 51 8 (mv) ° 17 34 51 8 (mv)
ch total meen sd ch total neen sd
3 9280.570 18.561 6.737 3 9818260 19.637 8.360
2 7115.640 14.231 7.058 2 15187.400 30.375 19.661
4 7679.910 15.360 1496 4 9685.090 19.370 7.085
1 13217.900 26.436 9.446 1 15376.300 30.753 9.677
0 24059.800 48,120 19.954 0 39798.500 79.597 32.018
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B#Fyt= 60 (T, BJT,10:0 n.)

(EB1) meen=1011.330(sd 5.774)msec.  tempo= 59.328(sd 0.339) €33 heart rate=103.658(sd 1.451)
fch)
5 Heart R.wave | |
3 L.Erec.spina.
2 L.Gastrocnem.
4 L.Tibi.anter.
1 R.Erec.spina.
0 R.Gastrocnem.
6 Inclin.angle
0 100 200 300 400 500 600 700 800 900
[ EBL 10:11. m ] E.M.G data from 1 to 500 (I Y | E.M.G data from 501 to 1000
3 L.Erec.spina |
. .spina. 3 L.Er 1
|
2 L.Gastrocnem. |
2 L.Gastrocnem. |
R I |
SRR LT ——_— 4 L.Tibi.anter. |
1 R.Erec.spina. L, 1 R.Erec.spina. i
Oyinsaastrocoans 0 R.Gastrocnem. !
o 17 34 B 68 (mv) o 17 34 B 68 (mv)
R LaEed Rrsa o) ch total meen sd
3 9265.360 18.531 7.235
2 13440.900 26.882 13.912 3 Hed il i o
2 9680.820 19,362 11.417
4 12285.500 24.571 4.847
4 11961.700 23,924 3.864
1 13926.900 27.854 8.099 1 T228 8100 24.572 8,103
0 45570.400 91.141 37.391 by % ‘
0 39628.200 79.257 42.855
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f§7vH= 90 (M. SAN, 7:08. f.)

(283) meen= 649.833(sd 3.055)msec. tempo= 92.331(sd 0.434) €3] heart rate=101,975(sd 0,771)

lch)

5 Heart R.wave |

3 L.Erec.spina.

2 L.Gastrocnem.

4 L.Tibi.anter.

1 R.Erec.spina.

0 R.Gastrocnem. 0 |
4
RO o] "
f 0
6 Inclin.angle | |
|
0 100 200 300 400 500 600 700 0800 900
[ z83 07:08. ) E.M.G data from 1 to 500 [ zB3 07:08. f ) E.M.G data from 501 to 1000
3 L.Erec.spina. 3 L.Erec.spina.
2 L.Gastrocnem. 2 L.Gastrocnem,
4 L.Tibi.anter. =t 4 L.Tibi.anter. —r—
1 R.Er 1 R.Erec.spina.
0 R.Gastrocnem. 0 R.Gastrocnem.
o 17 34 51 68 (mv) o 17 34 51 68 (mv)
ch total meen sd ch total meen sd
3 13715.200 27.430 12.508 3 15329,500 30,659 12.393
2 25337.400 50.675 29.074 2 9520,520 19.069 11.736
4 6475.690 12,951 5.087 4 120 9.130
1 18117.600 36,235 10.995 1 19650,500 39,301
0 37990.700 75,981 51.683 0 10523.300 21.047
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fEsyd= 60 (M, SAN. .08, )

(z81) meen=1011.000(sd 5.292)msec. tempo= 59.347(sd 0.311) L9 heart rate=106.320(sd 4.470)

[chl

5  Heart R.wave | |

3 L.Erec.spina.

2 L.Gastrocnem.

4 L.Tibi.anter.

1 R.Erec.spina.

0 R.Gastrocnem.

6 Inclin.angle

0 100 200 300 400 500 600 700 00 900
[ 281 07:08. f ) E.M.G data from 1 to 500 [ 281 07:08. t ) E.M.G data from 501 to 1000
! T
3 L.Erec.spina. 3 L.Er | ;
|
2 L.Gastrocnen. 2 L.castrocnen. | \
| 1
4 L.Tibi.anter. 4 L.Tibi.anter. i |
| |
: | i
1 R.Erec.spina. 1 R.Erec.spina. | i
|
| |
0 R.Gastrocnem. 0 R.Gastrocnem. | !
| |
| |
o 17 34 s1 68 (mv) o 17 34 51 68 (mv)
ch total meen sd ch total meen sd
3 14751.000 29.502 9.806 3 16753.600 33,507 10.019
2 19800.000 39.600 31,570 2 8643.670 17.287 15.957
4 10567.000 21.134 10,988 4 15939.200 31.878 16.075
1 21780300 43.561 12,818 1 24671.200 49,342 13.345
0 20594.300 41.189 21,070 0 11711.000 23.422 17.510
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fETyE= 40 (M, SAN, 7:08. f.)

(z84) meen=1488.330(sd 20.207)msec. tempo= 40.314(sd 0.547) t 3 heart rate= 99.754(sd 1.826)

(chl

5 Heart R.wave | ) | |l |

3 L.Erec.spina.

2 L.Gastrocnem.

4 L.Tibi.anter.

1 R.Erec.spina.

1
4
5
s

0 R.Gastrocnem.

6 Inclin.angle

0 100 200 300 400 500 600 700 600 900
[ 284 ©07:08. f ) E.M.GC data from 1 to 500 284 07:08. f ) E.M.G data from 501 to 1000
3 L.Erec.spina. 3 L.Erec.spina. 1
2 L.Gast| : 2 L.Gastrocnenm.
astrocnem astrocnen. |

L.Tibi.anter.

4 L.Tibi.anter.
0

1 R.Erec.spina. 1 R.Erec.spina.

0 R.Gastrocnem. 0 R.Gastrocnem.

e — B,

1) 17 34 51 7] (nv) ° 17 34 51 8 )
ch total meen 8d ch total meen ad
3 16087.800 32,176 9.217 3 13760.800 27,522 9.168
2 17601.800 35.204 16.087 2 $109.140 8.218 2.090
4 6618.210 13.236 2,738 4 10912.800 21.826 13.597
1 18445,800 36.892 7.346 1 15763.100 31.526 7.171
0 20508.200 41.016 15.406 ) 5988.380 11.977 5.345
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fifryd= 90 (Y, TAK, &0 1)

(ye3) meen= 648.333(sd 15.218)msec. tempo= 92.545(sd 2.172) €3 heart rate=106,969(sd 4.535)

[ch)

5 Heart R.wave | I I

3 L.Erec.spina.

2 L.Castrocnem.

4 L.Tibi.anter.

i baned hatlists o rbd

1 R.Erec.spina.

0 R.Gastrocnem.

6 Inclin.angle

0 800 900
[ yes 08:00. m ) E.M.G data from 1 to 500 [ Y83 08:00. m) E.M.G data from 501 to 1000
3 L.Erec.spina. 3 L.Erec.spina.
2 L.Gastrocnem. 2 L.Gastrocnem.
—— e
4 L.Tibi.anter. 4 L.Tibi.anter.
1 R.Erec.spina. 1 R.Erec.spina.
o R.Gastrocnem. o R.Gastrocnem.
S
° 17 34 51 8 (mv) ° 17 34 51 8 (nv)
ch total meen sd ch total meen sd
3 16330.300 32,661 3 17485.900 34,972 17,936
2 25763.400 51.527 2 5299.020 10,598
4 8844.440 17.689 4 11497.100 22,994
1 12976.300 25.953 1 15872.200 31.744
0 47943.000 95.886 [ 4907.550 9.815
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fEFof= 60 (Y. TAK. &0. 1)

(YB21 meen=1010,000(sd 7.810)msec. tempo= 59.406(sd 0.459) €3 heart rate=102,014(sd 5.041)

teh)

5 Heart R.wave | |

3 L.Erec.spina.

2 L.Gastrocnem.

4 L.Tibi.anter.

FLEN

1 R.Erec.spina.

0 R.Gastrocnem.

17 Inclin.angle

0 100 300 400 500 600 700 800 900
[ y82 08:00. m ) E.M.G data from 1 to 500 [ Y82 08:00. m ) E.M.G data from 501 to 1000

| ]
3 L.Erec.spina. 3 L.Erec.spina. | {
|
2 L.Gastrocnen. 2 L.Gastrocnon. ]\ |
| |
4 L.Tibi.anter. 4 L.Tibi.anter. | !
= | |
1 R.Erec.spina. 1 R.Erec.spina. \}
Loy i
0 R.Gastrocnem. 0 R.Gastrocnem. 1 1
=01 i
! [
|

) 17 34 51 68 (mv) o 17 34 51 68 (mv)

ch total meen sd ch total meen sd

3 10822,000 21.644 8.109 3 10381.500 20.763 9.301
2 28093.800 66,188 51.711 2 3389.770 6.780 3.412
4 7882.880 15.766 3.728 4 11776.900 23.554 10.678
1 16644.600 33.289 10.899 1 15931,200 31.862 10,481
0 19929.100 39.858 28.272 0 3064.240 6,128 3.047
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fEFvE= 40 (Y. TAK. &0.1.)

(v84) meen=1438.330(sd 12.662)msec.  tempos 40.045(sd 0.338) [ 31 heart rates 95.970(sd 3.948)
teh)
5 Heart R.wave |
3 L.Erec.spina.
2 L.Gastrocnen.
4 L.Tibi.anter.
1 R.Erec.spina.
PR
0 R.Gastrocnen.
it i
6 Inclin.angle e
0 100 200 300 00 500 500 700 500 500
[ Ys4 08:00. m ) E.M.G data from 1 to 500 [ YB4 08:00. m ) E.M.G data from 501 to 1000
3 L.Erec.spina. 3 L.Erec.spina.
L 1
2 L.castrocnen. 2 L.Gastrocnen.
4 L.Tibi.anter, 4+ L.Tibi.anter.
=
1 R.Erec.spina. 1 R.Erec.spina.
0 R.castrocne. o R.castrocnem.
o 17 34 s1 68 (mv) o 17 34 s1 68 (mv)
ch total meen sd ch total meen sd
3 8186.800 16.374 6.693 3 7872.500 15.745 6.154
2 18023.700 36.047 23.543 2 14005.500 28.011 22.920
4 7625.700 15.251 .980 4 17332.980 14.666 3.402
1 10896.600 21.793 6.797 1 11271.300 22.543 7.470
o 30220.700 60.441 41.565 0 20125.500 40.251 31.485
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(FB2) meen=1012.000(sd

[chl

5  Heart R.wav

o

8.185)msec.

fi#5 8= 60 (N, FUK, 800 1)

tempo= 59,289(sd

0.480)

€3

heart rate= 85,585(sd 6.104)

o

3 L.Erec.spina.

2 L.Gastrocnem.

4 L.Tibi.anter.

1 R.Erec.spina.

0 R.Gastrocnem.

6 Inclin.angle

0 100 200 300 400 500 600 700 900
[ FB2 08:02. m) E.M.G data from 1 to 500 [ FB2 08:02. m ) E.M.G data from 501 to 1000
3 L.Erec.spina. 3 L.Erec.spina.
2 L.Gastrocnen. 2 L.Gastrocnem.
4 L.Tibi.anter. 4 L.Tibi.anter.
1 R.Erec.spina. 1 R.Erec.spina.
0 R.Gastrocnem. 0 R.Gastrocnem.
0 17 34 51 68 (mv) o 17 34 s1 68 (mv)
ch total meen sd ch total neen sd
3 32453,200 64.907 20,109 3 38977,000 77,954 22,533
2 22922.,900 45.846 19.112 2 23965,200 47.930 29.196
4 29398.200 58.797 34.339 4 14610.500 29,221 11.669
1 21093.500 42.187 11.508 1 20328,100 40.656 10.795
0 17025.400 34.051 16.508 0 37655.900 75.312 38,396



(FB3) meen=1481.670(sd 25.813)msec.

tch)

fi#7v8= 40 (N, FUK, &00.1.)

0.705)

tempo= 40.495(sd

€3

heart rate= 89,501(sd 8.651)

5 Heart R.wave

3 L.Erec.spina.

2 L.Gastrocnem.

4 L.Tibi.anter. ||

1 R.Erec.spina. |

0 R.Gastrocne

6 Inclin.angln

0 100 200 300 400
[ FB3 08:02. m ) E.M.G data from 1 to 500

3 L.Erec.spina. 3
2 L.Gastrocnen. 2
4 L.Tibi.anter. 4
1 R.Erec.spina. 1
0 R.Gastrocnem. o

° 17 51 ) (mv)

ch total meen sd

3 25029.200 50.058 13.583

2 17569.000 35.138 21.004

4 15678.700 31.357 15.210

1 19398.000 38.796 8.521

0 19161.500 38.323 19.020

[ FB3 08:02.

L.Erec.spina.

L.Gastrocnen.

L.Tibi.anter.

R.Erec.spina.

R.Gastrocnem.
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700 800
m) E.M.G data from 501 to 1000
T T
i |
3 |
T 1
i I
|
| |
|
! I
o 17 51 68 (mv)
ch total meen sd
3 25745.100 51,490 15.778
2 19729.700 39,459 16.060
4 16295.100 32.590 11.725
1 23423.000 46.846 12.233
0 21707.200 43.414 19.184
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